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Which of the following are the similarities
between Indian Parliamentary System and
British Parliamentary System?

1. Supremacy of Parliament

2. Elected head of state

3. Majority party rule

Select the correct answer using the code given
below.

(a) 1 and 3 only

(b) 1 and 2 only

(c) 3 only

(d) None

Indian form of government is described as a

federation with centralizing tendency. Which

among the following provisions of the

constitution supports this tendency?

1. A single and flexible constitution

2. Provision of All India Services

3. Appointment of State Governor by the
Center.

Select the correct answer using the code given

below.

(a) 1and2 only

(b) 2 and 3 only

(¢c) 1 and 3 only

(d) 1,2 and 3

Which of the following statements is/are

correct with regard to the Fundamental

Duties?

1. They can be used by the courts to
determine the constitutionality of a law.

2. They can be enforced by Parliament

through legislation.

Select the correct answer using the codes
given below.

(a) 1only

(b) 2 only

(c) Both 1 and 2

(d) Neither 1 nor 2

4. Which of the following is/are features of

Indian secularism as adopted in the

Constitution?

1. Religion is a personal matter and there is
no interference by the state.

2. No citizen can be denied entry into any
educational institute of the state on the
grounds of religion or caste.

3. Every religious denomination has the right
to establish and maintain charitable
institutions without any limitation.

Select the correct answer using the code given

below.

(a) 1 only

(b) 1 and 2 only

(c) 2 only

(d)2 and 3 only

Consider the following statements regarding

the Jataka stories of Buddhism:

1. Events from previous lives of Buddha are
depicted in these stories.

2. They are depicted on the railings and
torana of the stupas.

Which of the statements given above is/are

correct?

(a) 1 only

(b)2 only

(c)Both 1 and 2

(d) Neither 1 nor 2
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oqT 1

ARG @aEerT gomenr 3R fafeer d@d yomelr
& a7 fAFAfaf@d & & &l A FAae g7

1. Hg¢ $r gafoaar

2. TS A AN TG

3. FEAC Gl H AHA

A feU 91T @Is &1 ITANET Fh HE 3R G|
(a) Faer 1 3R 3

(b) Faer 1 3R 2

(c) Fael 3

(d) ®I$ et

AR QATHA TTEAT & Hgraor H ggfar aret
9 & ® #H g fRar wr gl d@feue &
FAfaf@d wauar & ¥ Hlia ar gEue 39
yafar &1 TAIT T 2

1. Uhd UG ordiel Afqumst

2. 3@ HRAT [Q13T T FraHTT

3. &g g@NT UsT & Tsdurd H Fgfad|

A foT 9T HIs HT IUAET Hh TG IR YA |
(a) Faer 1 3T 2

(b) Faer 2 3T 3

(c) ¥aar 1 3T 3

(d 1,2 3k 3

Afw Fdcdl F T A Fea@d J d Sl

/A YT Ter 8/a?

1. st 39T IeTedcdl caRT fohel et T
Fausar @uiRa &= & fow frar o
e

2. 3¢ UG CART Hlofel Sellehd F] T ST
E

A fOT 9T HIs HT IUAET Hh FE SN YA |

I~\TI—

(a) Haa

(b) aer

(c)13ﬂ12a’m’r
(dyFar13iRaTE2

. fefef@a & @ *la-dr gfgus J e T8

AR aAfeRyeTar i fawae g7

1. 97 U IFded AFT § 3R sTH TS
HT FIS GEAGTT LT B

2. Ty off amoiRe & epf ar aifa & 3muR
R TT & frdr off deTfOs deare H waer
o dfaa A& R ST Thar B

3. % UIfFHe UG # foar fordy @ &
gAY TEU TURT W AR §AT @S
7 3FER B

A foT 9T HIs HT IUHT Fh T IR YA |

(a) shad 1

(b) Faer 1 3K 2

(c) shaer 2

(d) ¥aer 2 3k 3

ey wt @ oTaw el & dew W

frafaf@d Fyar W R X

1. 398 Fgiedl & e & Rod Saa &
AT ST gUTAT =T

2. Fo5 EqOi & e R anei w Rfa
T I g

W U v Fyat & F Sl an/d agr g2

(a) Faer 1

(b) Faer 2

(c) 1 3R 2 g=r

(daar13RaTE2
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reference to Jainism philosophy,

consider the following statements:

1. While Jainism recognizes the existence of
gods, it places them lower than Jina.

2. Right knowledge, action, and faith are
considered to be the three gems or ratnas
of Jainism.

Which of the statements given above is/are

not correct?

(a) 1 only

(b)2 only

(c)Both 1 and 2

(d) Neither 1 and 2

Which of the following policy measures were

adopted by the British Government towards

the Princely States after the revolt of 18577

1. Britishers to abandon the policy of
annexing princely states.

2. Britishers to stop interfering in day-to-day
affairs of princely states.

3. Princely States were to be completely
subordinated to British Crown.

Select the correct answer using the code given

below.

(a) 1 and 2 only

(b)2 and 3 only

(c) 1 and 3 only

(d)1,2and 3

Consider the following statements with

respect to the Jallianwala Bagh massacre:

1. A large crowd gathered at Jallianwalla

Bagh to protest against the arrest of Dr.
Saifuddin Kitchlew and Dr. Satyapal.

JATF CET 2024

2. After the incident, Mahatma Gandhi
formed Satyagraha Sabha to organize an
all-India hartal against the massacre.

3. Rabindranath Tagore renounced his
knighthood in protest of the incident.

4. After the Hunter Commission report, the
House of Lords had voted against Dyer's
action in Jallianwalla Bagh.

Which of the statements given above are

correct?

(a) 2 and 4 only

(b)2, 3 and 4 only

(c) 1 and 3 only

(d) 1,2 and 4 only

The Forest Policy (1988), aims at:

1. Bringing 25 percent of the geographical
area under forest cover.

2. Conserving the natural heritage of the
country, its biological diversity, and
genetic pool.

3. Increasing the forest cover through social
forestry and afforestation on degraded
land.

Select the correct answer using the code given

below.

(a) 1 and 2 only

(b)2 and 3 only

(c) 1 and 3 only

(d)1,2and3
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6. I ¥ & & TH # Peaf@d Ul W 2. "l & ¢ HECAT el o TREER &

TR &

1. S 9§ Zgansit & ’edca & AIAT T
¥, St 3% o & & T &

2. gFEgS A, HH AR A S g7 &
Tt AT el AT S E

FIW U a0 Fyat & & wiT g afr ad 2

(a) Fael 1

(b) Faer 2

(c) 1 3R 2 gt

(d) ar13k2

. 1857 & faglg & &g fofesr &R ganr

fRaradt & ufd Feafaf@a & @ &ia ar Hifdera

3T YT IAT?

1. 3IST qarr Raradr & gsus f Afa @@t
RACIGI

2. P& @ Ramadl & oA & A #
gEARIT de T

3. Rarat @ gt e @ e #3a & el
T e S|

A QT &Is &1 3ueT e JE IR g |

(a) saer 1 3R 2

(b) Faer 2 3R 3

(c) saer 1 3R 3

d) 1,2 3R 3

. SIfIIarell §197 §cdhis & A9y # Aedfaiad

FUYAT W TaR -

1. 8. A= fhue 3R 3. doguar H
RFar & fay & Sfermarer s & a3
IER e

e AW HRAT g5l IS e
& forT "curag g & 9o R

3. 39 "l & [T H W@legadty IR o 379er
a@aggﬁ:mﬁr?am@rl

4. T FARM H RUIC & a5 g3d A6 dAsd
S Sfoiarer der H SRR A FRAs &
Feme dle T o

I fRU a0 Fuet & T FiT a1 FEr 8§72

(a) daar 2 3R 4

(b) Faer 2, 3 3K 4
(c) Fae 1 3 3
(d) a1, 2 3R 4

. T A (1988) &7 3827 &

1. #iafaes &3 & 25 ufderd smr & &
HIEROT & AN ol

2. g 1 uptas favwa, sadr Sfew [fawuar
3R TTdRIF Yol 1 FETOT|

3. wfow arfedr iR felga o w
TeAIRIOT & ATETH H del 3TAI0T Sl TEleT|

A faT I T 3UGNT ATk HET 3R G|

(a) Faer 1 3R 2

(b) Faer 2 3R 3

(c) Fae 1 3R 3

(d) 1,2 3R 3
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10. During the Cold weather season, Northern

India experiences an excessive cold compared

to Southern India. Why?

1. Northern India experiences the continental
type of climate.

2. The snowfall in the nearby Himalayan
ranges creates a cold wave situation.

3. The cold winds blown from the Caspian
Sea to the northern side of India.

Select the correct answer using the code given

below.

(a) 1 and 2 only

(b)2 and 3 only

(c) 1 and 3 only

(d)1,2and 3

11. In the context of The Northern Plains, Bhabar

is best described as:

(a) the belt where most of the streams emerge
without having any properly demarcated
channels.

(b) belt having both old and new alluvial
deposits.

(c) the belt where streams and rivers coming
from mountains deposit heavy material of
rocks and boulders.

(d) the belt having characteristic features of
mature stage of fluvial erosional and

depositional landforms.

12. Consider the following statements regarding

Temperature Inversion:
1. A long winter night with clear skies and
still air is an ideal condition for

temperature inversion.

13.

14.

2. Temperature inversion is a frequent
phenomenon in polar areas.

Which of the statements given above is/are

correct?

(a) 1only

(b) 2 only

(c) Both 1 and 2

(d) Neither 1 nor 2

Consider the following statements with

respect to Indian Monsoon:

1. The Monsoon, unlike the trade winds, are
not steady but are pulsating in nature.

2. The monsoon rainfall has a declining trend
with increasing distance from the sea.

3. Monsoonal rainfall is largely governed by
relief or topography.

4. The retreat of the monsoon is gradual and
takes longer than the onset of the
monsoon.

Which of the statements given above are

correct?

(a) 1,2 and 3 only

(b) 2 and 4 only

(c) 1,3 and 4 only

(d) 1,2,3and 4

Under which of the following types of
unemployment more people are doing work
than actually required?

(a) Voluntary unemployment

(b) Disguised unemployment

(c) Casual Unemployment

(d) Chronic Unemployment

JATF CET 2024
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10.33 & #Alga & e, 398 9Ra & ol arRa

11.

& Joflell H cAfUS 33 HT 3787 gl g1 FI?

1. 308 9Rd FgedT YR A SFeldrg H
3T AT B

2. fFeadl Ao gdamrer & Ihar @ o
gL 1 TEUf Yer 81 STl g

3. FUTA R & ARG F 3AU AT FHr AR
&S gard Tolehl gl

A QT #is &1 39T e TE 3T G|

(a) Faer 1 3R 2

(b) daer 2 3 3

(c) aer 1 3R 3

d) 1, 2 3k 3

3T AT & Tedl H, AR FT TaH 37T JuTeT

30 YR fohar a4 &

(a) a8 Soc gl fAwer 4R fear Ry 3Ra
dAifra d5a & fAFerar 81

(b) W AR AT Felle @&t & JFa decl

(c) 9% doc SfgT UEIST ¥ 37 drell URIU 3R
Afear acerEt 3R TRRE Fr ailr areElt S
LA B

(d) & & g 3R fAaigor arelr f-3mehfaat &
gRYeFd IGEAT AT fFAYAT arelr doc|

12.Ww$mﬁﬁmﬁﬁa$ﬁ

R AR

1. 9% A 3R efd gar & A1 TH oer
qfédt 1 Td A gowA & far s
e fEufa &1

2. g @At # AA FohAUT Th THT
e &l

13.

14.

3R U v wuat # & Fi9 an/d Tgr §/8?
(a) Faer 1

(b) Faer 2

(c) 1 3R 2 g=r

(dy TFar13RaTE2

AR A & HoY # AeAiafi@d S W)

[EEISEETS

1. amRe garsil & fAudid, aAege Fu &8t
¢ afew wpfa & wfea &

2. Az @ QU Sool & HIY-HIY HAGA a5 H
firrae #r yafyr &

3. AL au R gg dh A6 AT TIAHIA
ZarT AT g &

4. ATHES FH A -8R gl § 3R AT
& eI A S FET AN F

FR U a0 FUAl § & FleT &1 T 872

(a) &ae 1, 2 AR 3

(b) Faer 2 3R 4

(c) @ae 1, 3 AR 4

(d 1,2 334

frfaf@d # & fra 9BR $r RS & dgd
JEdd H IaTHAT & HVF T FH W R
4

(a) TRo® RISy

(b) =BT SRASTIRY

(c) HThfEAS SR

(d) Ereeproreh SRISTIRY
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A decision of the Reserve Bank of India to

increase the Cash Reserve Ratio (CRR) is

most likely to result in

(a) an increase in the inflation rate.

(b) an increase the interest rates.

(c) an increase in the aggregate demand for
goods.

(d) a decrease in household savings.

The Basel Norms were introduced by the

Reserve Bank of India (RBI) mainly to

(a) Improve the banking sector’s ability to
absorb shocks arising from financial
stress.

(b) Depolarize the appointment of Board of
Directors in Nationalized Banks

(c) reduce the supervision of the RBI over
foreign banks with more than 10 branches
in the country.

(d) Expand bank network in remote areas.

Consider the following statements:

1. Real GDP changes express changes in
production output in the country.

2. A nominal GDP increase necessarily
means that the production output has
increased.

Which of the statements given above is/are

correct?

(a) 1 only

(b)2 only

(c)Both 1 and 2

(d) Neither 1 nor 2

18. Which of the following are direct taxes?

1. Wealth tax

2. Gift tax.

3. Excise duty.

4. Corporation tax
Select the correct answer using the code given
below.
(a) 1,2, and 4 only
(b) 2 and 3 only
(c) 1,3,and 4 only
(d) 1,2,3and 4

19. Which of the following reasons account for

lesser biodiversity in temperate regions as

compared to tropical regions of the world?

1. Tropical regions have been subjected to
frequent glaciations in the past while
temperate latitudes have remained
undisturbed.

2. Temperate environments are less seasonal
and stable thus promoting niche
specialization.

3. There is more solar energy available in the
tropics, which contributes to higher
productivity.

Select the correct answer using the code given

below.

(a) 1 and 2 only

(b)2 and 3 only

(c) 3 only

(d)1,2and3

JATF CET 2024
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AR Red d% & awe IR Jead
(TR3MR) A do & Ao & gRumaTasy
e e FHET §

(a) HeEhIfd eX & gefer|

(b) saTST R A Fefe|

(c) #Tel I el AT # gefe|

(d) e Fad H FAT

SH AECS AET ¥ ¥ AT R 8% (RBI)

EarT ger feu 9w &

(@) o der@ & 3cdesT gl dTel 3coh &l
ot A AfFT 8 fT e F gUR F
& faw|

(b) TSEH St A fACUAS Hsel H FAGFT I
fagydipa = & v

(c) &r & 10 ¥ M em@raft arer fageh St
T AREIE FHT TPRET FF & & oo

(d) GEIST & & #H I Acad F fAFdR e
& fom|

AT YT W AaR #L:

1. gEdide el 9Raded & H 3cdied &
SGoTd I cTFd HLAT ¢l

2. AFHA SMEd gEfr @ He@a ®@ @
Aded & & 39e1 3cue # e g5 ¢

FIW U a0 Hyat & § wlT qud adr 82

(a) Faer 1

(b) Faer 2

(c) 13X 2 g=r

(d)Far13mad2

18.

19.

rfaf@d & & &l A gcger a1 g2
1. HORy &

2. 3UER .

3. 3cUre Yoeh.

4, T X

A foU @IS T 3UANT Fh FE IR oA
(@) hadl 1, 2, 3R 4

(b) saer 2 3R 3

(c) &aer 1, 3, 3T 4

(d) 1, 2, 3 3T 4

faeg & 3swrefestd  &Ft & goen A

FgaMASOT A A FA o9 Rfdyar F fov

FATId & ¥ HiT @1 HRT GFAGR 872

1. 3OUTRfeTHT &7 ’did H oNaR AT &
3l @ & Safes gAddsor sremer serfadg
w® Bl

2. gAMEST ardaRer wA AAT 3R RBRR
ga § oo Rt R[waar & sgrar
fFrerar gl

3. 307 Hfedy & 3w IR oI 3ucey §, S
3T 3cdieehdl # AeTere F B

A faT I T 3UANT I FE IR G|

(a) shaer 1 3R 2

()aﬂazaﬂws

(c) aa
)

d) 1, 2 3R 3
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20. This tribal community of Rajasthan are

21.

22.

considered the first environmentalist in the
world. They remove living insects from the
firewood before burning. They never cut trees
and wait for trees to die on their own or fall
down during storms. Wildlife like Chinkara
and Blackbucks move freely in their
settlements.

Who among the following are being described
in the above given passage?

(a) Bhils

(b) Gonds

(c) Bishnois

(d) Bagas

Which of the following are the ex-situ
methods of biodiversity conservation?

1. Botanical Garden

2. Biosphere Reserve

3. Zoo

Select the correct answer using the code given
below.

(a) 1 and 2 only

(b)2 and 3 only

(c) 1 and 3 only

(d)1,2and 3

These plants were introduced into India for
their lovely flowers have caused havoc by
their excessive growth by causing blocks in
our waterways. They are also called ‘Terror of
Bengal’. They grow abundantly in eutrophic
water bodies, and lead to an imbalance in the
ecosystem dynamics of the water body.

Which of the following plants is being

described in  the passage given above?

(a) Water Hyacinth
(b) Golden Pothos
(c) Water Chestnut
(d) Water Lilies

23. Which of the following statements is/are correct

with reference to desert ecosystem?

1. The soil in the desert is coarse.

2. Animal diversity in the deserts is very high.

3. Plants have waxy surfaces to reduce water

loss.

Select the correct answer using the code given
below.

(a) 1 only

(b) 2 and 3 only

(c) 1and 3 only

(d) 1,2 and 3

24. Honey flows slower than water because.

(a) Honey has a higher viscosity than water.
(b) Honey has lower melting point than water.

(¢) Honey has higher surface tension than
water.
(d) Honey has a lower density than water.

25. Consider the following pairs:

Lens/ Mirror Use
1. Concave lens Spy holes in doors
2. Convex lens Magnifying glass

3. Concave mirror Solar furnace

4. Convex Mirror Rear-view mirrors
How many pairs given above are correctly
matched?

(a) Only one pair

(b) Only two pairs

(c) Only three pairs

(d) All four pairs

JATF CET 2024
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20. 7 F FH M’ AT T gfadr &

21.

22,

9T JATROTAE, AT STl &1 & STl & 9gel
JTS oehst & Sfifad ISt & ger & &1 & &l
g g7 Fled 3R IR g § &F 95 339
3T & AW AT JHA & SR TR e fKewrr
AR soipeFd A gegeld e SRRt A
AT ¥ ¥ RO @A gl 3Wed Ay H
fArafaf@a # & forasr auiar fRar o @r 87
(a) #rer

(b) 7tz

(c) fae=is
(d) ST

frafaf@d & ¥ &9 O sig afgyar a3efor $r
ua-feafa fafesr &2

1. Siciase M

2. SREEARR Rerd

3. Rfsarer

A faT I T 3UANT FE FE IR ol

(a) Faer 1 3R 2

(b) Faer 2 3R 3

(c) ¥aer 1 3K 3

@d 1,2 3k 3

¥ O 3T QR fell & HRUT HRT # AT ¢
q, gl 3t rafos gefor & #ror g
TAATEIT H Thrae YT FF Jae JAAS gl oo
SAMST T 3MTcAen’ 81 gl SIar g1 3 Jeifther el
et & g=X A A 39 g, 3R S e &
aiRfeafadhr a7 @ aifaelierdr # 3mqes der
X &

3RFd IRde & Frafaf@a § @ g dig &
guisT fRar & T 87

(a) STergeft

(b) TMesaT AN

(c) THETsT

(d) afex forelr

23.

24.

25.

IEaE aREufadr a7 & desf 7 A=faf@a

# T FiaT @A FuT T@r 72

1. eas & el grgy g gl

2. XarEaw # gy fafaudr sga e gl

3. dlul F gl f wAr B FH WS & AT
AA ST Fag g gl

A R F5 #7135 = T 39T T

(a) dae 1

(b) Faer 2 3T 3

(c) Faer 1 3 3

(d) 1,2 3k 3

AGE Gl T Joenwm A el afy & w@ar ®

FiTeh-

(a) WBe H Ul T JoloAm H S AT Bl
gl

(b) 2BE I AT Ul HT JoIAT H HA gl
gl

(c) wge A Ul # ool H FcAg delid 3T
glar &

(d) 26E T Teled Ul & Jofall H FHA gl gl

Aefofaa Aifsat .w R i

da/gdor ESDI)

1. 3add o gIaralt # AgE o6
2. 3da o F IEYF o

3. 3add guur Tk ey

4. 3da ggor qRT-TLT

FW U a0 fda Sig 7 gt &7

(a) dhde T SIS

(b) dae ar A3

(c) dae AT S

(d) Tefr IR A3
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26. Consider the following statements regarding

the PM Surya Ghar Muft Bijlee Yojana:

1. It will enable one crore households to
obtain up to 300 units of free electricity
every month,

2. It provides for a subsidy of 60% of the
solar unit cost for systems up to 200 kW
capacity.

3. A Model solar village will be developed in
each district of the country to act as a role
model for adoption of rooftop solar in
rural areas.

Which of the statements given above are

correct?

(a) 1 and 2 only

(b) 2 and 3 only

(¢c) 1 and 3 only

(d) 1,2 and 3

27. Consider the following statements regarding

the Micro, Small & Medium Enterprises

(MSMEs):

1. The Union Budget for FY 2023-24 allows
a tax deduction for expenditure incurred
on payments made to MSMEs only when
payment is actually made.

2. In India, it is mandated that a buyer is not
liable to pay interest on delayed payments
to MSMEs.

Which of the statements given above is/are

correct?

(a) 1only

(b) 2 only

(c) Both 1 and 2
(d) Neither 1 nor 2

28. Due to climate change, coral bleaching events

have become a recurrent feature of late. In
this context, which of the following factors
can cause coral bleaching?
1. Increased exposure to ultraviolet (UV)
radiation
2. Sediments such as sand covering the coral.
3. Entry of excess nutrients such as ammonia
and nitrate fertilizers into coral reefs
4. Excess storm water from rain entering the
coral reefs.
5. Salinity Changes
Select the correct answer using the code given
below.
given below.
(a) 2,3and 4 only
(b) 1,3 and 4 only
(c) 2,4 and 5 only
(d) 1,2,3,4and 5

29. Consider the following statements with regard

to Biological Oxygen Demand (BOD):

1. It depicts the amount of organic pollution
present in an aquatic ecosystem.

2. High BOD level means the amount of
dissolved oxygen available for marine
organisms is low.

Which of the statements given above is/are

correct?

(a) 1 only

(b)2 only

(c)Both 1 and 2

(d) Neither 1 nor 2
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26. 977 I W AT Ol AeEr & dEy A

fArAfaf@d F=l W AR+

1. I T HUs IRART & g #Ag 300 Fheie
deh O forstell 9red i & Fate FArear|

2. g 200 faellare &AAT d& Hr gonfodi &
for dk 5 awa &1 60% wfeadr e
EXGI

3. T & H Fher TR d HIA &
foT AT AlseT & T H FF W & foaw o
& g oo & v Alsar IR M9 R_efaa
o Sreem|

3R BT v wy=t & ¥ FiT @r agr g2

(a) saer 1 3R 2

(b) saer 2 3R 3

(c) shaer 1 3R 3

(d 1,2 3K 3

27. g\, oY 3R ALIH 3cIAT (THUHTHS) & HaE

# AR Fual W ar &

1. faa a¥ 2023-24 & FEF Folc TATHUHAS
A fhT T spTAE W T T 7 F fav
X deldl & IFATT haor T T § I«
AT aredd & fanar I gl

2. ARG # TWIER vUvATHUAS H  fIdfed
I W SIS H A A & faw
ARG A8 B

3R BT 10 Fy=t & ¥ Fi9 a/d @@ g2

(a) hadl 1

(b) aer 2

(c) 13X 2 g=r

(daar13iRadr2

28. STefarg YRad= & HROT, FHIN faloleT &1 gea

29.

geT & IR-aR g arell §HEdT &1 IS &1 39

o #, faf@d # & &9 @ FRE g

fOSTe #T HROT §o7 T 872

1. TSR (gdn) fafeor & dush & gefer

2. FIA & ool dTell deloe, S8 Il

3. vaa fafat # afaRea 9ws dar
faar 3R ATsee 3T FT YU

4. aiker &1 fARSFT B =l FHIM TETA
H yder T gl

5. WquTar IRdds

A faT I T 3UANT FE FE IR ol

(a) Faer 2, 3 3R 4

(b) Faer 1, 3 3 4

(c) Fadr 2, 4 AR 5

(d) 1,2, 3, 43R5

CIECE Coci e Cll: i) S CI CIE))

farafaf@a syt w far

1. ¥g o gifeafad a1 & #Algg oMfasw
TENOT T AT P G B

2. 3T @IS TR F Adeld ¢ b AT Sar
& v 3ucley golefier iferdiclel &1 #AET
A gl

FR 6T T FHUAT # ¥ Pl A/A He o/o?

(a)aﬂzm

(b) haer

(c)13ﬂ¢2a’m’r

(daTar13ivad2

& Hag A
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30. Consider the following statements:

1. Biopiracy is the theft or usurpation of
genetic materials by the patent process.

2. The Convention on Biological Diversity
gives sovereign national rights over
biological resources.

Which of the statements given above is/are

correct?

(a) 1 only

(b)2 only

(c)Both 1 and 2

(d) Neither 1 nor 2

31. With reference to ecological pyramids,

consider the following statements:

1. The pyramid of biomass in the sea is
generally inverted.

2. Pyramids of energy can never be inverted.

3. Saprophytes are not represented in
ecological pyramids.

Which of the statements given above is/are

correct?

(a) 1only

(b) 1 and 2 only

(¢c) 2 and 3 only

(d) 1,2 and 3

32. Which of the following statements is correct
about the Balance of Payments?

(a) It is a record of only goods and services
exchanged between the residents of a
country with the rest of the world.

(b) It is a systematic record of all economic
transactions between the residents of one

country and the rest of the world.

(c) It includes transactions

imports and exports of goods, services,

consisting of

and capital but excludes foreign aid and
remittances.

(d) It includes all the domestic assets and
liabilities of the government of India, kept

by RBI.

33. Which of the following best defines the term

"liquidity'?

(a) The ease with which an asset can be
converted into cash without a significant
loss of value.

(b) The degree to which an asset is able to
appreciate in value over time.

(c) The ability of an asset to generate income
overtime.

(d) The potential return on investment in a

particular asset.

34. Arise in the price of foreign exchange (a fall
in the value of rupee) would likely result in
which one of the following?

(a) Decrease the cost (in terms of rupees) of
purchasing a foreign good.

(b) Increase the cost (in terms of rupees) of
purchasing a foreign good.

(c) Decrease in India’s exports with other
things remaining constant.

(d) Both (b) and (c)
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30. frafaf@d Fo=t W TR &<

1. SO dde gfhAr  g@RT  dRIS
grAfIat & T a1 g8ueT g

2. Jifge RAYAr | Feaue e FEEE ”
Yy TS YRR &m &l

FW R a0 Fyat F ¥ i qud @dy 2772

(a) hder 1

(b) haer 2

(c) 13k 2 g=ir

(daar13ikadr2

3. gRufas RifAst & "oy & Feafaaa

FYAT W faaR =L

1. &g & SEAM F RIAS JHwdT: el
giaT &

2. Foif & TRIAS Fefy o I A& & Tal

3. uRfeufdes M@t &  Faohar &
gfafafea a8 forar arar g

FIW U T Hyat & § wlT g adr T2

(a) haer 1

(b) Faer 1 3R 2

(c) saer 2 3k 3

(d 1,2 3k 3

32. a1 HJeld & SR A farAfafad & @ i

T YA e §?

(a) T felt Sor & Tarfaat & @y Qv faeg &
T IMe-TarT B TS Had arg3t AR
qansit &1 Rrs gl

(b) IE TH U & At R AW favg & &
geft M e &1 veh yafeud RS gl

c) 38 &g, Fasd IR G & amra 3R
foafa @ 3 deea arfAe § Aferer fagel
Feraar 3R awor enfAe FEr 2

d) $HH RS GaRT WY 7§ HARA TIHR Hr
a8t el GuEr AR SeeRar anfae g1

3B.AAff@d # & Fld 'Roldr Usg H FIH

3T e IR war §7?

(a) T 3ImaEr oas @ty fRdr gREufr @
Ao & HAgeaqul A & 9= FAndr &
gRafda frar s @ear §1

(b) g f3aft o & *5 Tufd AT & AU
AT H UG FA H WA

(c) frey aREOfT & TFT F AT T IcTool
FeA T &THATI

(d) Rl aREufy & gy w F@anfaa Real

34.fadel HaT A FAT A e TR F Hed A
fiRmae) & IRuTATaRT AFfaf@a # @ @i
1 gHTfad gRomHE eI
(a) facelr avq Tliea & W (F9F & Hesl
#H) # AT

b) forer faeelr avq # @liea A awa (T
& Tl #) # Feradn

(c) 3T It R Wl W WRAT & aa &
SHAT|

d) a&r (b) 3R (c)
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Rakesh was manual labour in a factory that
used to manufacture shoes. The area where

the factory was located was bought by a

foreign entity that specialized in shoe
manufacturing. The machines for the
manufacture and design of shoes were

imported from the United States of America
and manufacturing plants were set up in the
area. It was observed that special knowledge
of computers and Numerical competency was
required to operate those machines which
Rakesh lacked and thus he was fired from his
job leading to unemployment.

What kind of unemployment is depicted in the
passage given above?

(a) Structural Unemployment

(b) Frictional Unemployment

(c¢) Seasonal Unemployment

(d) Disguised Unemployment

A violently rotating column of air touching
the ground, usually attached to the base of a
thunderstorm, is known as:

(a) Tornado

(b) Whirlpool

(c) Storm Surge

(d) Tsunami

Which of the following statements is/are

correct regarding the Earth's Crust?

1. Crust is the outermost solid part of the
earth.

2. Oceanic crust is thinner as compared to
continental crust.

3. Continental crust is denser than oceanic

crust.

38.

39.

Select the correct answer using the code given
below.

(a) 1and 2 only

(b) 2 and 3 only

(c) 1only

(d) 1,2 and 3

Consider the following statements:

1. The Himalayas prevent the cold winds
from Central Asia from entering the
subcontinent.

2. Northern India experiences a higher
annual range of temperatures compared to
Southern India.

3. Seasonal contrasts in interior parts of the
country are higher compared to coastal
locations.

Which of the statements given above are

correct?

(a) 1 and 2 only

(b) 2 and 3 only

(c) 1 and 3 only

(d) 1,2and 3

Only one side of the moon is visible to a

person on earth because:

(a) the moon lies in the geosynchronous orbit
of the earth.

(b) the speed of rotation of the moon is the
same as that of the earth.

(c) the speed of revolution of the moon is the
same as that of the earth.

(d) the moon takes the same time to complete

one spin as for the revolution of the earth.
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TH S §ellel arell Ueh %ol H HolgQl &l
aT| JF &1F Sfel el feua o, Spar e A
I T@e arell T facdelt HEdr garT @ler
arr ATl St & fA#ATr ik Barse & fav Ade
TIFT TS 3ANH & 37 &1 a5 3R & &
fafaaior To TR e v g8 q@r I R
39 A A Faw & AT s R
HEITHAS AT & AT AT ' 3aeTehdr
oY, St THY & Ui el AT HR 37 YR 3o
ARy & fFrprer fear s, SEE SOl €S|
IWad aR=dg # A R A SRS &
et I §?

(a) EXTeATcHS SRS

(b) TYUTCHS SRASTITRY

(c) FAtaAT SRSy

(d) TeBe=T SISy

STHIAT @l Pl aTell gl T Teh fgHd T @ gHA
arelr &9, S AHAAR W) e & IUR & SfEr
BT §, & ¥T & ST ST &

(a) st

(b) Seeter

(©) P T

(d) gerr

gl & e & Hau A FEfafad d @ @l

/A HUT TET 8/8?

1. hEe gl &GI8 S0 3T HIT g

2. HENPRE e HAgledldg e il Jgolall 7
qcrell giclt 81

3. HEEAdT HEe THAT Hec A ol H gul
g Bl

A feU aTT FIS AT 3UAT Fh FE I G|

38.

39.

(a) Faer 1 31K 2
(b) Faer 2 3R 3
(c) Faer 1

(d) 1,2 3K 3

fArafaf@a Fret W R i

1. fearem Avy ofar & e arelr 33 gart
I IYAGIEATT H T HLel F b ¢l

2. ol oRa f gelelm A I ARG A
AATA B TR AT 1AF g &l

3. ¢ & 3IaRke #wEl A A fRumma
T T BT JolelT H IR T

R fGU a0 FyAT # § FiA @1 TqEr g7

(a) daer 1 3R 2

(b) Faer 2 3R 3

(c) shaer 1 3K 3

(d 1,2 3R 3

gLl W AT Bl TogHT HT hdel Teh & 9T

e@s ¢ar § Fifh:

(a) TgAT AT Fr q-FFFIS HaT A U g

(b) <A I U AT gL & HAT §

(c) TgaAT @ gRerATT At gedr & FAT g

(d) JeAT F HUA T W PO [ A H
3a & WA oot § foder g #
RGRAT & T
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among the following persuaded
Mahatma Gandhi to come to Champaran to
investigate the plight of indigo farmers caused
due to Tinkathia system?

(a) Raj Kumar Shukla

(b) Rajendra Prasad

(c) J. B. Kripalani

(d) Indulal Yagnik

Which of the following were the causes

behind the 1857 revolt?

1. Confiscation of properties of Zamindars.

2. Exclusion of Indians from higher
administrative positions.

3. Prevalence of corruption at lower levels of
administration.

Select the correct answer using the code given

below.

(a) 1 and 2 only

(b)2 and 3 only

(c) 1 and 3 only

(d)1,2 and 3

The economic critique of colonialism

emphasized 'Home Charges' as one of the

modes of the drain of wealth from India.

Which of the following correctly describes

the 'Home Charges'?

(a) Interest on loans taken by the Indian
Government.

(b) Salaries of British civil and military
officials working in India.

(c) Expenses of the Indian Government in
Britain.

(d) Profits of British capitalists in India.

JATF CET 2024

43.

44.

Which one of the following statements is not
correct with reference to the Swadeshi
Movement?

(a) It had its genesis in the anti-partition
movement of Bengal.

(b) Samitis (Corps of volunteers) helped in
mobilization of the mass support for the
movement.

(c) The big zamindars of Bengal did not
extend support to the Swadeshi cause.
(d)It marked the first instance of women

participating in large numbers in the

national movement.

With reference to the Permanent Settlement,

consider the following statements:

1. The right of ownership of land was made
hereditary and transferable.

2. There was no provision for the delay in
revenue payments by the Zamindars.

3. The Iland reviewed

revenue was

periodically with improvements in
agricultural productivity.

Which of the statements given above is/are

correct?

(a) 1 and 3 only

(b) 2 only

(c) 1 and 2 only

(d)2 and 3 only
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40. fAsTfSar v & HROT Aol forame fr géem @ (b) aRa #H FRRg fer aMeE IR ==
S Y & B BT & @ R s HeIFTIRAT T Feie |
. ) (c) e & IR WFR & T@I|
el 1 IIRT 3 & T e RAr? (d) e # Bfer Gehafv @7 7 |
(a) TSTHAR &
T FUA HE AG 82
(©) . o e (3) SEERY ScaRY damer & RS R Jcior
d) ggeltel ATTIeTeh A gs o
(b) AT (Fag@asl & Gof) o 3MGreld &
T ot gade S 7 #@ee #
41.1857 & fagle & U® Paff@a & @ sla @ (c) Sl & §F FHERT o T Heg F
FIOT A? gAS 6 e

(d) g T e # A3t carT §

1. SIHERT T §ufy ST |
sted et THEAT H HET o) &1 Ygoll 36160 ¢l

2. 39 grdfae 9ei § HRAAT & digser|
3. A & e TR W AR & JIR1|

‘ 44. TIRY SeleTd & ded A fAeafaf@d suer W
A feT @IS T 3uTT I T FHR YA

ICEIRECTE
(a) Fae 1 3 2 1. g ¥ T & ReR duge o
(b) Faer 2 3R 3 FEATCIOT AT aram|
(© a1 3k 3 2. SHlERT @RI IeiEd I & ¥ & faw
IS YraUTe 6 ATl
(@ 1,2 303 3. FM ScurewdT # GUR & WY IO B

FAT-GHT W e $r v o

42, 3ufaaerae & s e # 9RT @ 99 FH faw A A T W FE e

(@) shaer 1 3K 3
A Ferr & alel F T H QA o' W AR (b) 3T 2
T ar Peafaf@d & ¥ i @ R G (c) daer 1 3R 2

(d) saer 2 3K 3

FT FEr quleT HTar &7

(@) R WHR ¢arT faw T HOT W TS|
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Which of the following would fall under the
definition of State as defined in Article 12 of
the Constitution?

1. Delhi Metro Rail Corporation

2. Unique Identification Authority of India

3. NITI Aayog

4. RBI

Select the correct answer using the code given
below.

(a) 1 and 3 only

(b)2 and 4 only

(c) 1,2, and 3 only

(d)1,2,3 and 4

Which of the following is/are correct with

reference to the right to constitutional

remedies provided under Article 32 of the
constitution?

1. It is invoked to determine the
constitutionality of any executive order or
legislation if it directly infringes any of
the fundamental rights.

2. The Supreme Court has original and
exclusive jurisdiction in the case of
enforcement of fundamental rights.

3. It is a basic feature of the constitution and
cannot be taken away even by a
constitutional amendment.

Select the correct answer using the code given

below.

(a) 1 and 2 only

(b) 3 only

(c) 1 and 3 only

(d)1,2and 3

47. Consider the following pairs:
Constitutional Provision = Country
adopted from
1. Fundamental Rights France
2. Directive Principles of  Ireland
State Policy
3. Cabinet form of Britain

48.

49.

government

Which of the pairs given above is/are correctly
matched?

(a) 2 and 3 only
(b) 1 and 2 only
(c) 3 only

(d) 1,2and 3

If any foreign territory becomes a part of
India, then the power to specify that the
people of a foreign territory shall be the
citizens of India is vested in the

(a) National Human Rights Commission

(b) Supreme Court

(c) Union Government

(d) Parliament

Which of
Fundamental Duties under part IVA of the

the following is/are the

Constitution of India?

1. To develop
humanism

scientific temper and

2. To encourage the participation of workers
in the management of industries

3. To pay taxes
4. To cast vote
Select the correct answer using the code given

below.

(a) 1only

(b) 1 and 2 only
(c) 2,3, and 4 only
(d) None
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45. BT & ¥ T U & seedg 12 7

gRHIT T I aRemyr & 3iaeta 3meen?
1. feeeh A Yo @Rk

2. ¥R faferse ggareT arfdeior

3. Nfa 3maer

4. AREIE

A QT #15 &1 39T FE TE S I
(a) Faer 1 3 3

(b) Faer 2 3R 4

(c) Faar 1, 2, 3R 3

(d) 1, 2, 3 3R 4

46. 93Ul & 3feoe 32 & dgd Yed HAHTesh

IR & HfUER & wHedl & fwafafea # @

T AR TE B/E?

1. 38 TRl SEHRT A AT FEA A
wauAear AuiRa s & fow @y frar
S § Ife I8 @ dv w fRdr Ao
HRBR & Ieotad HT Bl

2. difaw 3RERT & gada & AFer 7 Hafed
S & 9 Ao 3R fafse aEnfaer
gl

3. ¥g Wiaue & vh giAady faAwar g 3R
30 Haurfaes Heluel g@rr o g¥ a¥gr e
ST Hehe &

A AT 91T HI3 HT IUAT FWH TP A A |

(a) daer 1 3R 2

(b) Haer 3

(c) saer 1 3R 3

(d 1,2 3R 3

47.

48.

49.

rfaf@d sifsar W faar &t

wawmfas yaue 3 ¥ AU I

1. Ao 3fPeR e

2. Uy Afa g IRl
[EAID]

3. WaR & Hfegae T@eg g

3R U aw geAt # @ &l @@ a@&dr gafad
ere?

(a) Faer 2 3T 3

()mumz

(c) aa

(d) 1,23R 3

afg #15 facelt &7 oRa & ffedr s ST g,
ar el & & 9T IRa F AeIRe g, Jg
Afese = fr ofea g & @[T &-

(a) TSET ATAIIERR AT

()Waﬁé

(C)WW

(d) |8

HRA & T & AET IVA & dgd eefeidd

# ¥ FiT @A Afos Faea €2

1. danfaes AT UF ATGATdG &1 e kel

2. 3T & yesus H HfESAT f Heiier #r
SrcaTed et

3. & e

4. dic Srefel

A fOT g T 3UAIT Hh TG IR YA |

(a) shael 1

(b) shaer 1 3R 2

(c) shaa 2, 3, 3R 4

(d) ®rg =TEr
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50. Consider the following statements in the

51.

52.

context of Preamble to the Constitution:

1. The Preamble states that the Constitution
derives its authority from the constituent
assembly of India.

2. Indian  constitution was the first
constitution in the world, to begin with a
Preamble.

3. Preamble is a part of the Constitution and
gives clarity in interpretation of the
constitution.

Which of the statements given above is/are

correct?

(a) 1and 2 only

(b)3 only

(c) 2 and 3 only

(d)1,2 and 3

With reference to acid rain, consider the

following statements:

1. The gases mainly responsible for acid rain
are sulfur dioxide and oxides of nitrogen.

2. Acid rain has high pH levels ranging
between 8-9.

Which of the statements given above is/are

correct?

(a) 1 only

(b)2 only

(c)Both 1 and 2

(d) Neither 1 nor 2

Which one of the following is the reason why
food cooks faster in a pressure cooker?
(a) Heat cannot escape from the cooker.
(b) The

increased pressure increases the

boiling point of water.

JATF CET 2024

53.

54.

(c) The boiling point of water decreases in the
closed system.
(d) Convection currents are set inside the

cooker.

Consider the following statements regarding
the Lakhpati Didi scheme:

1. It aims to empower women in rural areas
to start

encouraging  them

by
microenterprises.

2. The participants in the Lakhpati Didi
scheme must be active members of self-
help groups.

Which of the statements given above is/are

correct?

(a) 1 only

(b) 2 only

(c)Both 1 and 2

(d) Neither 1 nor 2

Which of the following is/are the defining

features of the parliamentary form of

Government in India?

1. Watertight separation of powers between
the executive, legislature, and judiciary.

is to the

2. The executive responsible

legislature.

3. Division of powers between center and
state.

Select the correct answer using the code given

below.

(a) 1 and 2 only
(b) 1 and 3 only
(c) 2 only

(d)2 and 3 only
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gfausr fr gEdeer & ded A fAeafaf@a

FUYAT W TaR

1. YEdEaaT H gl 717 § 6 U @ 39er
PR HRA H dfyer= Fom & wed g
gl

2. 9N w@faue gfear & ggem w@fdure e,
fSraehT Q@3 yedraer & g5 ol

3. yrdaenr wfausr &1t fRear & 3R
afqurer Hr carear & wosedr & &

3R U a0 ®y=t # & FiT an/d Ty 282

(a) Faer 1 3 2

(b) daer 3

(c) Faer 2 3R 3

(d) 1, 2 3k 3

FlT as & Hedl #H Peafafaa sy w

AR a3

1. 3Fly awf & fav geg &7 @ 3erh i
oWt STS3iTeRaTss 3R ATserel Jifearss ¢l

2. 37Fg gul & 9NIvd TR 8-9 & & giar &l

FW R a0 Fyat F ¥ i qud wdy 772

(a) Fael 1

(b) Faer 2

(c) 1 3R 2 gt

(dsar13iRadr2

fAFfaf@a & @ &l @1 FROT § 6 IR FA

H Qe doil ¥ ThdT g7

(a) FH A AT FTET AET To¥eher Hencll|

(b) a1 SGot W Ul FT FAYUATH §¢ ST g

(c) S YUTell & dUlelr &l FaUAd HA g ATl
gl

(d) FaEeT URTT FaY & IHeX Hafea g1 el &l

53. ar@ufa & AT & G99 # AEfoi@a syt

W R X

1. SHHI 3cee™ AT &t # AfGnsit 1 g
3EIA F T F AT AewRd wWE I
TRFA T &

2. ogdfd & AT #F HET AN ae T
FEIAT AT & AR HGET gl d1feu|

IR RU v wyet F § Fi @A @@ 2
(a) shaer 1

(b) &aer 2

(c) 1 3R 2 g=t

dFar13iRad2

54.F=fef@a & @ 9 g & ™R F

TG Fawq #r afeniia A §8?

1. Fufae, fauRer 3R =arfes & &g
et &1 fAfdare gaerhon|

2. wRifere faufR@er & 9fd Iaer Bl

3. &g IR TsT & 9= afFadt @ Furee.

A faT I T UGN ATk HET 3R G|

(a) Faer 1 3R 2

(b) Faer 1 3R 3

(c) Faer 2

(d) Faer 2 3R 3
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Which of the following is/are correct with

reference to the right to property?

1. Itis alegal right.

2. It can be curtailed by an ordinary law of
Parliament.

3. In case of violation, the aggrieved person
can directly move the Supreme Court for
its enforcement.

Select the correct answer using the code given

below.

(2) 1 and 2 only

(b) 3 only

(c) 1 only

(d)1,2and 3

Which of the following statements correctly
describes the aim of 'Direct Action Day'
called by Jinnah in 1946?

(a) To press the League’s demand for Pakistan
after the failure of the Cabinet Mission
Plan.

(b) To press the League’s demand for Pakistan
after the failure of the Wavell Plan.

(c) To protest the seven-year sentence given
to INA officer Rashid Ali.

(d) To call for national strike in support of

RIN revolt.

In the context of Montague-Chelmsford

reforms, which of the statements are correct?

1. Dyarchy was introduced at the level of the
Provincial government.

2. The majority of the members of the
Provincial Legislative Councils were to

be nominated.
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3. Despite the reforms, the Central
Government had unrestricted control over
the provincial governments.

4. Congress leader Surendranath Banerjea
was in favor of accepting the reforms.
Select the correct answer using the code given

below.

(a) 1 and 3 only

(b)2 and 3 only

(c) 1, 3 and 4 only

(d)2 and 4 only

Starting from the Himalayas, arrange the
following belts of the alluvial plains from
north to south.

1. Bhabar

2. Bhangar

3. Terai

4. Khadar

Select the correct answer using the code given
below.

(a) 3-1-2-4

(b)3-2-1-4

(c) 1-2-3-4

(d)1-3-2-4

In a food chain of a terrestrial ecosystem, an

animal which is strictly herbivore will
necessarily be classified as a:

(a) primary producer

(b) tertiary consumer

(c) secondary consumer

(d) primary consumer
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Fofd & 3ReER & def & fefaf@a & &

@i A/ FET 8872

1. ¥E U A HARR 8.

2. 38 "G & AIYURT Hisld GaRT HA har ST
qhdT B

3. 3eowe T Fufd # s afdd 5@ o

e & forw Y g FIE S e B
A feU @IS T 3UhET Fah FE SR Yo |
(a) saer 1 3R 2
(b) Faer 3
(c) aer 1
d) 1, 2 3 3

frafaf@d & @ &l a1 FUT 1946 H o=t

TaRT AU 9T 'GcheT HNas Gad@ & 3eged

HT TET JUIT FAT 87

(a) Hfeae A doer & AEerar & a6 ofer
HT gIfehEcleT T ART W Ea1d 3ol |

(b) Add VST H TABSIAT & dG ohdr Hr
qifeRedIa T AT W ga1d STefeT|

(c) 3ITSUAT HEHRT TG 3 H & 7S AT
il 1 F1 FH a0y F F v

(d) RIS TAglE & FASA H TSI gSATS
T 3TEdle] haT|

ARTLAFEHIS GURT & Hedl A, did & FHUA
e &7

1. 9T WHR & &R W gy A de]

forar |

2. wida Qured qRwel & 3ifehir gl #r
AR fhaT ST AT

3. GURT & SIacE, g TSR A IdT TIRRT
X 3faefea faz=or an

58.

59.

4. FAE AT oA Toell FURT H FHR
FA b g7 H A,

A QU &5 &1 3uANT X FET 3 g |

(a) daar 1 31X 3

(b) aer 2 31X 3

(c) shaa 1, 3 3K 4

(d) aer 2 3 4

RATG @ 3IRH & Sl HAgEr @
forAfaf@a afear 3 & gfaror cgafeyd &,

1. =R

2. HR

3. W®

4. @I

A feU @IS &7 3UGT Fh FE SR Yo |

(a) 3-1-2-4

(b) 3-2-1-4
(c) 1-2-3-4
(d) 1-3-2-4

Ty aIRfEAfadr o H @eg yaar 4, s
SR St Q¥ RE AHERY 7, 3§ e &9
¥ 50 FhR Fufiepe fohar e

(a) ITIfAS® IcTGHh
(b) Ferrer 3usfardr
(c) gfadraes Iusiierar
(d) graffes 3gsterdr
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60. With reference to the Monsoon winds of the

61.

62.

Arabian Sea, consider the following
statements:

1. These winds cause more rainfall on the
eastern side of the Western Ghats than on
the western side.

2. The Chotanagpur plateau does not get any
rainfall from these winds.

3. It passes over west Rajasthan and along
the Aravallis, causing scanty rainfall.
Which of the statements given above is/are

correct?

(a) 1 and 2 only
(b) 2 only

(c) 3 only

(d) 1,2and 3

Which of the following can be regarded as the
quantitative tools of the Reserve Bank of
India, to control money supply in the
economy?

1. Changing the cash reserve ratio

2. Open Market Operations

3. Moral suasion

4. Changing the Bank Rate

Select the correct answer using the code given
below.

(a) 1 and4 only
(b) 2 and 3 only
(c) 1,2 and 4 only
(d) 1,2,3and 4

Which of the following state-level taxes have
been subsumed under Goods and Service Tax
(GST)?

1. Luxury tax

2. Sales tax
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3. Stamp duty

4. Octroi

Select the correct answer using the code given
below.

(a) 1 and 3 only
(b)2, 3 and 4 only
(c)1,2,3and 4
(d) 1, 2 and 4 only

In the context of biodiversity, Allen's rule
states that

(a) mammals from colder climates have

shorter ears and limbs to minimise heat
loss.
(b) mammals from colder climates have thick

blubber of fat to protect themselves from
cold.

(c) mammals from tropical climate exhibit
higher genetic diversity compared to
colder climate mammals.

(d)mammals from tropical climates have
longer lifespan on an average compared

to mammals from colder climates.

Which of the following are related to the

process of photosynthesis?

1. Absorption of light energy by chlorophyll.

2. Conversion of light energy to chemical
energy and splitting of water molecules
into hydrogen and oxygen.

3. Reduction of carbon dioxide to
carbohydrates.

Select the correct answer using the code given

below.

(a) 1 and 2 only

(b)2 and 3 only

(c) 1 and 3 only

(d)1,2and3
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60.3R¥ HER & AGHET gai & Headl #H,

61.

AFAET YT W AR *=;

1. ¥ gad afvaed ac & qdf Ry 7 afvash
RES &1 Joler # 3F awt FA E

2. BTN YSR & g1 gar3il & ast =7gi grelr
gl

3. I URGHAr I 3R 3RTdel & qrg-ary
IR &, 9gd A TN FA gV

FR U 1wyt & @ Ha avd a@r 82

(a) Faer 1 3 2

(b) Faer 2

(c) Fad 3

(d 1,23k 3

3rdegaEdT # HqaT AT F T w @ F o
frfa@d # ¥ fF8 dRam Rea & &
HAMETcHS 30T ATAT ST vl &7

1. e IRIETT I Seeram

2. g SR Hrelel

3. afde g

4. §& eI Igde

A faT I T 3UAT FE FE IR ol

(a) Faer 1 3 4

(b) Faer 2 3R 3

(c) Faar 1, 2 3R 4

(d) 1,2, 33k 4

62.faf@d & ¥ FT T TI-TRT R &

g Td qaT A & JHcEd A TR arr g2
1. fenfaar &

2. fashr X

3. wWFT 3

4. g

63.

64.

A AT 91T A HT IUAT FF T I A |
(a) saer 1 3R 3

(b) shaer 2, 3 3R 4

(c) 1,2, 33 4

(d) shaer 1, 2 3R 4

Sia fAfayar & Fegdl & v &1 FgH Farar §

&

(a) 7 & ThEAA B HBA A &b AU S
Sedry & TAAUTRAT & Fe AR 3T oI
i 7

(b) B3 STelaTg & TAAUIRAT & IF Yo F 33
T U= & T g @ f @ o1 g gl

(c) 3SUTRfINT Ferdry & TAAUN 32 SeAary
F TAAUTRAT AT Jolell A ITd HdRIS
fafaerdr geifa & gl

(d) 3UThfedthy Sy arel  EAUTREAT T
Shaaehier 331 Sy dlel  T=Temat
o= & 3G ol g g

frafaf@a & & & a1 gerr deewor &

afsear & Hefaa §?

1. FARIhe GaRT YHI FoIT HT IFTATOT|

2. G Fofl H TEEfAS Foll H FIAROT 3R
arell & UL @ gISgelel AR et 7
fagss|

3. FIe SBITFASS T FHEEIBIC H qeolalT|

A feU s &7 3UGNET Fh FE SR Yo |

(a) Faa 1 3K 2

(b) Faer 2 3T 3

(c) Faer 1 3 3

(d) 1,2 31k 3
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65. Consider the following statements regarding

Jal Jeevan Mission (Urban):

1. It provides for the coverage of
sewerage/septage management in 500
AMRUT cities.

2. It aims to create green spaces and sponge
cities to reduce floods.

3. 100% central funding will be provided to
cities having a million-plus population
under this scheme.

Which of the statements given above is/are

correct?

(a) 1 only

(b) 1 and 2 only

(c) 2 and 3 only

(d) 1,2and 3

66. With reference to Aravalli Mountains, consider

the following statements:

1. These are the oldest block mountain in
India.

2. They are present in Gujarat, Rajasthan, and
Delhi.

3. They act as a water divide between the
Indus and Ganga River systems.

Which of the statements given above are

correct?

(a) 1 and 2 only
(b) 2 and 3 only
(c) 1and 3 only
(d) 1,2and 3

67.

68.

69.

Consider the following pairs:

Ocean current Characteristic
1. Agulhas current Cold

2. Humboldt current Warm

3. Benguela current Warm

Which of the pairs given above is/are correctly
matched?

(a) 3 only
(b) 1 and 2 only
(c) 1 only
(d) 2 and 3 only

Which of the following is/are considered as

assets of a commercial bank?

1. Reserves of commercial banks with the
Central Bank

2. Deposits of people with the commercial
bank

3. Loans given to the public by the
commercial bank.

Select the correct answer using the code given

below.

(a) 1and 2 only
(b) 2 only

(c) 1 and 3 only
(d) 2and 3 only

This five-year plan aimed at developing the
Indian economy on socialist lines. It also
wanted to put India on a path toward
industrialization. The chief architect of this
plan was P.C. Mahalanobis. Which of the
following Five-Year Plans has been
described in the passage given above?

(a) First five-year plan

(b) Second five-year plan

(c) Fourth five-year plan

(d) Sixth five-year plan
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S Sfaa A (agdl) & ey & Feafafada

FUYAT W TaR

1. I 500 3@ M # WRS/ARS Fauad
Fr FalT e HT gl

2. SHH 3T 916 H HH o & fav gRa
T 3R TGS A TAT gl

3. 3H AFAT & ded gH @ ¥ AHUH HTeTr
arel e A 100% FHaF foad Awur gereT
forar Sreem|

3R BT v wyat & ¥ FiT @va @@y 867

(a) shaer 1

(b) saer 1 3R 2

(c) shaer 2 3R 3

(d) 1, 2 3k 3

RGNl Udd & T 7 Aeafaf@d Fuar )

TR &

1. ¥ RA & FaH [ selleh gdd gl

2. 3 IR, Toredr 3R e 7 Alg &

3. @ Ty 3R aem 7 yonfadt & @@ S
fFomes & ® & T = &

FW R a0 Fyat F ¥ FieT ar a8y 22

(a) Faer 1 3 2

(b) Faer 2 3R 3

(c) Faer 1 3R 3

(d) 1, 2 3k 3

Frafaf@a aftal W farR #¥:

AT 4RI faeryar
1. 3TETH GRT GEL
2. gFdloc YRT CiE)
3. dequer ary CiE)

68.

69.

IW QU a1 oAt & @ & @ad FqEr el
g3 &/E?

(a) shaer 3

(b) Faer 1 3R 2

(c) hael 1

(d) shaer 2 3R 3

frafaf@a & @ 58 s afooas d& &
Hufd AT ST 872

1. ¥ do & 9 afofSae dr 1 #8R

2. aifofSas d& & oer dr star afr

3. afifsas % garT SiTdr &t f&ar arr HoT|
A feU @IS &7 3UGNT Fh FE IR Yo |
(a)aw_cl?—r13-ﬁT2

(b) aer
(c)aw_cl?r13-ﬁT3
(d) shaer 2 3Rk 3

3 Jga¥iT AT H 3652 HRAT HFegaedm
F FATSERET dol W FRRAd AT A1 Ig 9RA
1 3cIRfntor i g W o ST g ol
3 ISl & HET dgehR GLE. Fgloeied 3
IWRFd IR #H fardfalla & @ fRa
G At &1 guter foRar I 87

(a) Jge GTaYTT st

(b) EY dEEsT Areter

(c) TN guadiT Ireter

(d) T JTasiT At
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70. With reference to the inflation, consider the

71.

72.

following statements:
1. Deflation is the decrease in the level of
inflation.
2. Disinflation is a general decline in prices
for goods and services.
Which of the statements above is are correct?

(a) 1 only

(b) 2 only

(c) Both land 2
(d) Neither 1 nor 2

Consider the following statements with
respect to subsidies in World Trade
Organization:

1. Green box subsidies are certain direct
payments to farmers where the farmers
are required to limit production.

2. Amber box subsidies are domestic policies
that do not have a direct effect on
production and trade.

Which of the statements above is correct?

(a) 1only

(b) 2 only

(c) Both 1 and?2
(d) Neither 1 nor 2

Which of the following were the declared
objectives of the Indian National Congress at
the time of its inception?

1. Promotion of feeling of national unity

2. Eradication of social evils

3. Indianization of public services

Select correct answer using code given below.
(a) 1and 2 only
(b) 2 and 3 only
(¢) 1 and 3 only
(d) 1,2 and 3
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With reference to Sir Syed Ahmed Khan,

consider the following statements:

1. Sir Syed Ahmed Khan established the
Muhammadan Anglo-Oriental College.

2. According to Syed Ahmed Khan the pre-
colonial rule of rajas was based on
Mohammadan religion.

3. He advocated a change in religious
precepts with the changing demands of
the time.

Which of the statements given above is/are

correct?

(a)1,2and 3

(b) 1 and 3 only

(c) 3 only

(d)2 only

Consider the following statements with

respect to Simon Commission:

1. All the members of the Commission were
Englishmen.

2. The Commission was appointed to go into
the question of further constitutional
reforms in British India.

3. The Simon Commission report
recommended dominion status for British
India.

Which of the statements given above are

correct?

(a) 1 and 2 only

(b)2 and 3 only

(c) 1 and 3 only

(d)1,2and 3
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AaEhITa & Hesl # foetel dYal W AR A

1. R Feehifa & T & FaT g

2. e aegsi AR Gardt & HEdl F vn
AT FORMET g

FW R a0 Fyat F ¥ i qud @dy -2

(a) haer 1

(b) Faer 2

(c) 1 3R 2 gt

(dsar13iRad2

.fag grR Herea # wfewsr & ey H

fArafaf@d Fuat W faR &

1. e ik Fiews! fhamel # F Togel
AT § STgl fohdllell &l Seutest WA #tet
HT HTGIHRAT il gl

2. TrREIFH Hfewst e Afadi § e
3cUTeA SR X EYEM Y1 w787 IS Bl

FW R a0 Fyat F ¥ i qud @dy 772

(a) haer 1

(b) Faer 2

(c) 13X 2 g=r

(d)sar13iRad2

IR TSI HEaF I AT F GHT
fArafaf@a # ¥ Fia I af¥aT e a2

1. TSET ThdT Y HTGAT Y FGTaT ST

2. wrafas FAAAT F1 Seaer

3. @l [AT3HT FH HARAIROT

A faT I T 3G Hh HE IR G|

(a) Faar 1 3 2

(b) Faer 2 3R 3

(c) daer 1 3R 3

(d) 1, 2 3k 3

73.5X WU 3¥gAC WA & TeF #A Arafaf@a

FIAT W TR &<

1. W ¥Ig 3EAC W o HEFEAST Tiell-
RTeH HieraT T TAIAT FH|

2. ¥ge IEAC Wi & AR ISMAT HT ga-
HufAafRies e AerAdr g9 W omaRa
qT|

3. 30 AT H dEadl AN & qY GfHe
facurdr # Scarg & gehrerd HI|

R fGU v FUAT H § i @A T e/e?

(@ 1,23k 3

(b) &aer 1 3k 3

(c

(d

)
)
) Fae
) hael

74.95HT FARG & o9 H AeAfef@d el |

ICEIRECTE

1. 3T & @ HEET 3T A

2. fafeyr #Rd & M & HIWTH FGURT &
e W AR e & fT 3mer dr Agied
$r g oY

3. TEAAT ARG & RO a ey ara &
foT Sifafaas weca & Rwier #)

R fGU a0 FyAT # § FiA @1 TqEr g7

(@) saer 1 3k 2

(b) saer 2 3k 3

(c) aer 1 3k 3

(d) 1,23k 3
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Which of the following is not correct with

reference to Subsidiary Alliance?

(a) Under the alliance a British Resident was
posted in the court of Indian rulers.

(b)It was

General Warren Hastings.

introduced by the Governor-

(c) The objectives of this alliance were to
keep away the French from expanding
their influence in India.

(d)Nizam of Hyderabad was the first Indian

ruler who joined it.

Which of the following writs can be issued
against the private individual as well as a
public authority?

1. Habeas Corpus

2. Mandamus

3. Prohibition

Select the correct answer using the code given
below.

(a) 1 only

(b)2 only

(c) 1 and 3 only

(d)2 and 3 only

Which of the following could come under

'reasonable restrictions' provided by the

constitution on exercise of Freedom of

Speech and expression (Article 19(2))?

1. Leaking of classified material by
Intelligence officer.

2. Giving speech to take up arms.

3. Speech which can hamper stability of
government in Lok Sabha

4. Contempt of Court.

78.

79.

Select the correct answer using code given
below:

(a) 1,2 and 4 only

(b) 1 and 3 only

(¢) 2, 3 and 4 only

(d)1,2,3and 4

The Indian Constitution guarantees which of
the following to the citizens?

1. Equality of status

2. Equality of opportunities
3. Equality of outcomes

4. Equality before law

Select the correct answer using the code given
below.

(a) 1,2 and 3 only

(b)2, 3 and 4 only

(¢) 1, 3 and 4 only

(d) 1, 2 and 4 only

Which of the following situations can be
considered 'proper' for the imposition of
President’s Rule in a state?

1. Maladministration in the state

2. A government is deliberately acting
against the Constitution.

3. The constitutional direction of the Central
government is disregarded by the state
government.

Select the correct answer using the code given

below.

(a) 2 only

(b) 1 and 3 only

(c) 2 and 3 only

(d) 1,2and 3
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HETIH ot & Tl # Aeafaf@d # ¥ &l

a1 wEY E 82

(a) ITeaUA & ded U fafeer YSse & ARG
ATHFT & AR H dord fohar Srar |

(b) 3 ITeR-STe Rl AR gleced garT uer fhar
T |

(C) 39 IGIYUT FT 3T WANAAT H AR
39T GHTT dTa & Aokl AT

(d) BeXeTe & ASH T HRAT arEed ¥ S
sﬂﬁ:ﬂﬁﬂgﬁf%l

frafaf@d & @ &ia @ Re &t =afFa &
TL-TT FaSAfd TReET & favegy off sy
Fr ST FHhl 87

1. FEY gegafeor

2. GIACY

3. famy

A faT I T 3UGNT 4k HEl IR G|

(a) haer 1

(b) Faer 2

(c) shaer 1 3k 3

(d) saer 2 3k 3

frafaf@a # @ Sl9 g AR sffcalFa &

TgAIdT (3gede 19(2)) & wAeT W Efgur

TN ged 3fd gfaey’ & Hdetd 3T FhT §

1. g AOSRT ot gihar aHal ol
AT

2. BRPRIR 3o & fow AT &l

3. 9§ HIVUT S dlhddT H AR o FEeRdar
F TS I Thl §

4. FATITAT T HIHTAAT.

78.

79.

A faT s T 3UANT HF HY TR Lo
(@) saer 1, 2 3R 4

(b) saer 1 31X 3

(c) shae 2, 3 3K 4

(d) 1, 2, 33 4

HRAT Ffaurs AR & fAeafaf@a & &
frEehr aTRer &ar &7

1. ufa & gAEar

2. 3TE FHr AT

3. oRomaET Hr GAEAr

4. A & HHLT FATA

A faT I FT 3UANT FE FE IR G|
(@) saer 1, 2 3R 3

(b) &aer 2, 3 3R 4

(c) shae 1, 3 3K 4

(d) shaer 1, 2 3K 4

fPEY Tog A Usgufd AT e & fow

farafaf@a & @ #ia & Fufa 3Ra &t o

FHhr g2

1. TST H HURjMMEA

2. U WHR S dlaur & Qs He
N WE .

3. ST WHR @RI &g WHR & s
f&er $r ragerar Hr FI .

A AT s T 3UAT FF TP I G|

(a) sdel 2

(b) saer 1 3R 3

(c) shaer 2 3R 3

(d) 1,2 3k 3
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80. A citizen may lose his/her citizenship when.

81.

82.

1. he/she voluntarily acquires citizenship of

any other foreign state.

2. unlawfully traded or communicated with
the enemy during a war.
3. obtained citizenship by fraud.

Select the correct answer using the code given
below.

(a) 1 and2 only
(b) 1 and 3 only
(c) 2 and 3 only
(d) 1,2 and 3

With reference to photochemical smog,

consider the following statements:

1. It results from the action of sunlight on
unsaturated hydrocarbons and nitrogen
oxides.

2. It usually occurs in a cool and humid
climate.

Which of the statements given above is/are

correct?

(a) 1only

(b) 2 only

(c) Both 1 and?2
(d) Neither 1 nor 2

Consider the following pairs:
National Park State
1. Tadoba Uttarakhand
2. Bandhavgarh Madhya Pradesh
3. Dudhwa Uttar Pradesh

Which of the pairs given above is/are correctly
matched?

(a) 1only

(b) 2 and 3 only

(¢) 1 and 3 only

(d) 1,2 and 3

83.

84.

In the context of inter-species interactions
among various species, in which of the
following cases only one organism benefits?
1. Competition

Predation

Parasitism

Commensalism

ok wN

Amensalism

Select the correct answer using the code given
below.

(a) 2, 3 and 4 only

(b)2, 4 and 5 only

(c)1,2,3 and 4 only

(d) 1, 3 and 4 only

Living organisms over time have acquired
various mechanisms to deal with harsh abiotic
conditions in their habitat. In this context,
consider the following pairs:

Activity Organism

1. Hibernation Bear

2. Aestivation Snail

3. Diapause Zooplankton

Which of the pairs given above is/are
correctly matched?

(a) 1 only

(b) 1 and 2 only

(c)2 and 3 only

(d)1,2and 3
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80. IS ATIRSP 3T ATIRGAT e W Thdl g2

81.

82.

1. Wwor §@ fRdr 3w R s @
ARTRAT 9Ted el W

2. ey & SR GUA & WY IRFREE dlh
T AR I TR HA K|

3. OIEIYE ¥ ANTRSAT Yo el W)

A AT s FT 394N FF Tl 3/ G|

(a) saer 1 3R 2

(b) saer 1 3R 3

(c) shaer 2 3R 3

(d 1,2 3K 3

BIEHfAF TAT & Ted #, fArAfaf@a Fuar

R fFarR +%

1. ¥ WG gRgeee AR SAsdie
Hiwdss W I F gH H fRAT &
IRUTATIET 3o BT Bl

2. FE JHAR W & T A Forarg & gl g

IR BT 10 Fy=t & F FiT a/d a@r g2

(a) haer 1

(b) Faer 2

(c) 13X 2 gt

(daFar13iRad2

fArfaf@a sifsar W AT &t

TP e T
1. arrer 3AES
2. qieadg HET geer
3. guar ESRaCAll

I U oAt # & &l @@ @ gafaa 382
(a) aer 1

(b) saer 2 3R 3

(c) Faer 1 3R 3

(d 1,2 3K 3

83.

84.

e gonfaat & o 3iR-[Rkse Tt &
eyl #, Pafaf@a & @ g Awe & ad
T Siig @l e gidr g7

gfaafarar

RIPR

qStifaar

FgASIar

ke corra)
mmmmmmwmw

(a) Faor 2, 3 3R 4

(b) &aer 2, 4 3R 5

(c) &aer 1, 2, 3 3R 4

(d) saer 1, 3 3R 4

I N I

FAT & WY &l A J9A WA H FOR
oifaes Rufodl @ Adea & fov [(ffes
g & fav & s@ d@gd #, efaf@d
SIfgal W faar &¥

afafafer g
1. <frafeer C
2. dHigdfetor aier
3. SIS SrceliehesT

IR fGU oAt # @ i qua @@ gafad ge?
(a) Faer 1

(b) Faa 1 3R 2

(c) ¥aa 2 3R 3

d) 1, 2 3 3
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The Interim Union Budget 2024-25 provides

for the expeditious rollout of newly designed

UWIN platform for

(a) managing immunization across the
country

(b) fostering entrepreneurial aspirations of
Youth

(c) supporting dairy farmers

(d) adoption of e-buses for public transport
Networks

Consider the following pairs:

Vitamins/ Deficiency

Minerals Diseases

1. Vitamin A Night Blindness

2. Vitamin D Scurvy

3. Iron Anaemia

4. lodine Goitre

How many pairs given above are correctly

matched?

(a) Only one pair

(b) Only two pairs

(c) Only three pairs

(d) All four pairs

Which of the following actions involves

Newton's third law of motion?

1. Launching of a rocket

2. Swimming

3. Firing of a gun

Select the correct answer using the code given
below.

(a) 1 only.

(b)2 and 3 only

(c) 1 and 2 only

(d)1,2and 3

JATF CET 2024

88.

89.

Which of the following directive principles

is/are based on the Gandhian Principles?

1. To promote equal justice and to provide
free legal aid to the poor.

2. To raise the level of nutrition and the
standard of living of people and to
improve public health.

3. To organize village panchayats and endow
them with necessary powers and authority
to enable them to function as units of self-
government.

Select the correct answer using the code given

below.

(a) 2 only

(b) 3 only

(c)2 and 3 only

(d)1,2and 3

Which of the following statements is/are
correct regarding Article 20 (Protection in
respect of conviction of offenses)?

1. No ex-post-facto law shall be enacted
whether in civil or criminal matters.

2. Protection  against  self-incrimination
covers protection against giving thumb
impressions and blood specimens.

3. In case of corruption charges against a
public servant, either the court or
department should take action to avoid
double jeopardy.

Select the correct answer using the code given

below.

(a) land 2 only

(b) 1 and 3only

(c) 3 only

(d) None



85.

86.

87.

I~\TI—

IdRA FglT dolc 2024-25 A0 fBomsa fho

T UWIN Tolehid & e srilcads T g

AT &

(a) W A # Eeraor & gaee & fou

(b) Jat3it HT AT ITHETIHT H Forar S H
foT

(c) 3T fraTer &1 TATT o & v

(d) Trasifas dRdesT dcasw & v Saat #r
A & faw

fArfaf@a sifsar W faEr &t

Rafaafs FAT ¥ A ara Aar
1. @ A Tafefr
2. @ D Fhdi
3. IR AT
4. AR ger T
IR QU 91T fhdar SiIg @ér gAfelaT &2

(a) el TH ST

(b) aer ar S

(c) dad dT S8

(d) I8 IR Sz

EAfoi@d & @ e fhar & sgear &1 arfd &1
T s anfae g7

1. ke HT F&IT0T

2. O

3. Sogd @ e T

A faT I T 3G Hh HE IR G|

(a) haer 1.

(b) saer 2 3k 3

(c) saer 1 3k 2

(d) 1, 2 3k 3

88.FrfaEd # ¥ FA W Ruw Rewia

aehardy fAgural o 3muRa §/87?

1. @AW ST & dordl &1 3R R« T Jord
HTofell HETIT el el

2. @R & AYor TR AR Slad &R & IR
3311 3N AGolfeish TaEeT & FUR H6T|

3. A YIFAl d IS e AR 3w
TIA HT SHAT & T H FT Rl H
A §A & fav margs afdaaw R
PR YT I

A faT I T 3UANT FE FE IR G|

(a)arm—»rz

(b) aer

(c)aﬁazaﬂws

(d) 1,23R 3

89,3 20 (¥IMT F AREE & ey o

W) F e A Fefeaf@a # @ a9 @

HUT TET 8/8?

1. =% dEe & a1 Bieenr, #15 o qaeardr
Flefel 9] A1 fehaT STTwaT|

2. ICH-QVRITCT & fa¥ey FIEm H NS H
fAerme 3R TFd & A o7 @ gRem A
J

3. frdl ok Ao & T@ed FSeaR & AR
& A A By TR ¥ Fa & faw ar
3ETeld T T TIHTT I FRATS T ATRT|

A faT I T 3UANT FE FE IR G|

(a) Faer 1 3R 2

(b) Faer 1 3R 3

(c) &aer 3

(d) I$ el
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90. If a National Emergency is declared on the

91.

ground of armed rebellion:

1. Fundamental Rights under Article 19 are
automatically suspended.

2. President can suspend the right to move
the Court for the enforcement of
fundamental rights.

3. the enforcement of the fundamental rights
guaranteed by Articles 21 and 22 cannot
be suspended.

Which of the statements given above is/are

correct?

(a) 1 and 3 only

(b) 2 only

(c) 2 and 3 only

(d) 1,2and 3

With reference to Lucknow Pact, a pact of

unity between Indian National Congress and

Muslim league, consider the following

statements:

1. Both Congress and Muslim league put
forward a joint scheme of political
reforms.

2. It demanded Swaraj at an earlier date.

3. The two organizations rejected separate
electorate.

Which of the statements given above is/ are

not correct?

(a) 2 only

(b) 2 and 3 only

(c) 3 only

(d) 1 and 3 only

92. With reference to the revolt of 1857, consider

the following pairs:

Leader Region
1. Nana Sahib Gwalior
2. Bahadur Khan Kanpur
3. Kunwar Singh Bihar

Which of the pairs given above is/are correctly
matched?

(a) 1 and 2 only

(b) 2 and 3 only

(c) 3 only

(d) 1,2and 3

93. With reference to the 1906 Calcutta session of

the Indian National Congress, consider the
following statements:

1. As the president of the Indian National
Krishna  Gokhale

declared Swaraj as the goal of the

Congress  Gopal
National Movement.

2. Resolutions supporting Swadeshi, Boycott
and National Education were passed at
the session.

Which of the statements given above is/are

correct?

(a) 1 only

(b)2 only

(c)Both 1 and 2

(d) Neither 1 nor 2
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90. It TIET Qe F YR IR ASET AT

91.

T Far Jar g

1. JedE 19 ¥ dgd Afes FMER w@a
feifaa g s gl

2. usgufa Afas 3RRT & gada & fow
AT S & ¥R # Fefad &
gad gl

3. ¥gese 21 IR 22 garm IRdSd Aifaw
PRI & Yadl & fAeifad a1 frar s
TeheTl &

IR BT 10 Fy=t & F FiT qd a@r g2

(a) Faer 1 3 3

(b) Faer 2

(c) Faer 2 3R 3

d 1,2 3R 3

HRAT TS @i R 7oA oer & d

Thdl & THAS, @3 Uge, & Ted #

fFafaf@d F2=T W AR+

1. #EE 3IR JEAA 9 el o Aokl
FURT &1 Ueh HYFl Aol A |

2. 38 Ygel T dE@ H TRIST Hr AT H

3. QA Hereel o g fAaTae &7 @ IR
Y e

R QU wy=t & @ Fia ava a@gr @ g7

(a) hadl 2

(b) shaer 2 3R 3

(c) hadr 3

(d) shaer 1 3R 3

92.

93.

1857 & gl & Hedl #H Pefaf@a Sfsal w
ICEIRECTE

Aar &
1. AT TR
2. SgIg Wi FA
3. IR T fagr

3R U aw geAt # @ &l @@ a@&dr gafad
gre?

(a) dael 1 3R 2

()3~Tc|<_~—r23-ﬁT3
(c) Faa
)

(d) 1,2 3R 3

IRAT TSI A & 1906 & Foerepdl
faea & deo #, Aeafof@a e W IR
F:

1. IRAT TSI HIF & 37egeT & & H
MYl FSOT MG o FRIST A AT
3fierelT T J&g ;g fRam|

2. YT & Taeeh, sfeser 3R Ui R
HT FAST el dTel YEATd 9IRA R 33|

FW U v Hyat & § wla @A adr T2

(a) shadl 1

(b) Faer 2

(c) 1 3R 2 g=r

(daar13RaTET2
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With reference to river regimes in India,

consider the following statements:

1. Himalayan rivers show antecedent and
consequent drainage patterns.

2. While the Himalayan rivers have reached
their base levels, peninsular rivers are still
active and deepening valleys.

Which of the statements given above is/are

correct?

(a) 1 only

(b)2 only

(c)Both 1 and 2

(d) Neither 1 nor 2

Consider the following events:

1. Ocean formation

2. Process of photosynthesis

3. Solar winds remove hydrogen and helium
from the atmosphere.

4. Process of degassing

Which of the following is correct

chronological sequence of the above events?

(a) 1-3-2-4

(b) 3-4-2-1

(c) 3-4-1-2

(d) 1-3-4-2

96. Which of the following can be the potential

traits of a Contractionary Fiscal Policy?

1. Decrease in tax rates of vehicles in order
to increase sales.

2. Reduction in subsidies of LPG cylinders

3. Increase in government expenditure on
infrastructure development.

Select the correct answer from the code given

below.

97.

(a) 2 only
(b)1,2 and 3
(c) 1 and 3 only
(d) 3 only

Which of the following can be accounted as
Capital Receipts in the Annual Financial
Statement?

1. Loans received from foreign governments.
2. Borrowings by the government through

the sale of Treasury Bills

3. Collection and appropriation of direct tax
4. Recovery of loans and advances

Select the correct answer from the code given
below.

(a) 2 and 4 only
(b) 1 and 3 only
(c) 1,2 and 4 only
(d) 1,2,3 and 4

98. With reference to the doppler effect, consider

the following statements:

1. Itis defined as the change in the frequency
of a wave as the source and observer
move toward each other or go far from
each other.

2. It can be observed for any type of wave
including water waves, sound waves,
light waves, etc.

3. The doppler red shift of light observed
from distant galaxies gives evidence that
the universe is expanding.

Which of the statements given above are

correct?

(a) 1 and 2 only

(b)2 and 3 only

(c) 1 and 3 only

(d)1,2and3
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AR # A c¥aryr & dey § Fwafafaa

FUYAT W TaR

1. Reaer Al qdadt 3k aRomh e
fAerdr teot e €

2. Safe AR afgal 3o 3R TR W)
o 7§ ¥ SreddE ARt el o Wik
g 3 ofeat &t | W W g

FR U T HyAT 7 ¥ HiA @A T@Er 22

(a) Fael 1

(b) Faer 2

(c) 1 3Rk 2 gt

(daar13ikadr2

frAfaf@d geamil W R

1. #AGRPR Ao

2. Y HXAYOT FHr gfshar

3. dRk a3l @RI agHsS @ gsglele 3R
Sifermd Fr g

4. I A gferar

e & @ Fla @1 3ed geasit & agr

FATHHE FH &2

(a) 1-3-2-4

(b) 3-4-2-1

(c) 3-4-1-2

(d) 1-3-4-2

frfaf@a & ¥ #i9 dgaael aowde Afg

& Gfac T & Fohol 87

1. Th o & fow argat & a2 &3 # Fal|

2. vadeh fidst & afewst # weldr

3. gy e & T W oWl wd A
qIad.

A foT 91T A5 A FE 3H G|

97.

98.

frafafea & @ e affs i fRQawor &

GoieTd oTfeqat & &9 7 gof R ST FoheT §72

1. el TR & yred FHoT|

2. oY foer &1 T & ATeTA @ WEHR anr
gred 34

3. YTl FX FH HIgUT uq fafaaner

4. HOT UG HHHA H T

Ay few aTT FIs @ WE IR A

(a) shaer 2 3R 4

(b) saer 1 3R 3

(c) saer 1, 2 3R 4

(d) 1, 2, 33K 4

SUeR UHTE & Tl # fAmfaf@a Ut

ICEIRECTE

1. 30 9 7 THasF F 0F gay f AN ot
A TH g W ¥ S 9 aer i g A
aRader & ®9 & qReniNa fFar smar R

2. 30 SToT o, €afel e, eI a’en e
gfga fradY ot gR dr aier & faw ¢ar s
Tl &

3. g IThREENIT & SE AT FhTer HT iRk
T RNoe 59 a1d & YA & & & sears
& faFdR & @ Bl

W QU a0 FHYaAT # & FidA 97 Fer 82

(a) Faer 1 3R 2

(b) Faa 2 3R 3

(c) ¥aa 1 3R 3

(d) 1, 23Rk 3
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99. Consider the following pairs:

Part of Eye Function

1. Cornea Refraction of light
entering the eye

2. Pupil Regulates and
controls the amount
of light entering the
eye

3. Retina Image formation

Which of the pairs given above are correctly

matched?

(a) 1 and 2 only

(b) 2 and 3 only

(c) 1 and 3 only

(d) 1,2and 3

100.Which one of the following will occur if a
sealed transparent plastic bottle filled with hot
air is placed in the freezer?

(a) plastic bottles will remain unaffected by
the change in the environment.

(b) plastic bottle will get inflated.

(c) plastic bottle will collapse on itself.

(d) None of the above
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99. frAfaf@d Afsal W R &L

AT FT HET frar
1. Siferdr 3@ H Y9 HeT arel ThRT
HT 9T

2. qerelr 3@ H Y9 HeT arel ThRT
Fr AT FT HFIHAT TF

IGREW

3. Yfear ofa faaATr

IR fu v geAt F § i @ 7 gAfea 2
(a) Faer 1 3 2

(b) Faer 2 3R 3

(c) Faer 1 3R 3

(d 1,2 3Rk 3

100. I a7 gar ¥ U Ts Uode Urealt

e & aidel @ HeR H I@ ST ar

Arfafaa & @ Fr afea gen?

(a) con¥esh & sSidel gAaRoT H gRads &
KICENCEIRGE]

(b) cefEea H sde For ST

(c) Tonf¥ca &I aidel 39eT 3T &g ST |

(d) 3T F ¥ FS A&
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Note: Candidate must secure atleast 33% (i.e.
16.5 marks) against the following 50 questions
(i.e. Q. No. 101 to 150).

Directions for the questions based on passages:
Read the following passages and answer the items
that follow each passage. Your answers to these

items should be based on the passages only.

Passage-1
COVID-19 has drastically affected the investment
climate in all economies of the world, causing a
sharp decline in the demand and supply
equilibrium everywhere. India has been no
exception to this unprecedented economic shock.
Yet, investment sentiment in the Indian economy
has been buoyed by the frequent and active
intervention of the Government of India despite
being hit by a world-wide pandemic. The Indian
growth story continues to expand as is
demonstrated by the trends in FPI, FDI and
Corporate Bond Market flows that indicate and
underline the beliefs of investors in the strength

and resilience of Indian economy.

101.Which one of the following is the most
logical and rational inference that can be
made from the above passage?
(a) In the last decade FDI has shown double
digit growth in India.
(b) India’s growth story shows resilience of its
macroeconomic indicators.
(c) Western economies have poor
macroeconomic fundamentals.
(d) Due to low Incremental Capital Output

Ratio, Indian economy has a conducive

investment climate.

102.With reference to the above passage, which of
the following could be the most rational and
practical implications for India?

(a) Buoyant nature of FDI, FPI and Corporate
Bond Market will help India to achieve its
five trillion-dollar economy target.

(b) India  should

agreement of WTO in order to boost

support the TRIMS
investment flow in the country.

(c) Being a developing country, India should
focus much upon monetary policy rather
than fiscal policy.

(d) India should focus on FDI, FPI and
resilient Corporate Bond Market in order

economic

to continue its growth

momentum.

103. A number is multiplied by six; then its decimal
point is moved to the left by three spaces. This
is the same as what percent of the number?

(@) 3/100 %
(b) 3/5%
(c) 3/50 %
(d) 6%

104. The price of an item is decreased by 10%, then
by 20%, and finally by 30%. This is equivalent
to:

(a) Decreasing the price by 50.4%
(b) Decreasing the price by 60%.

(c) Decreasing the price by 40.5%
(d) Decreasing the price by 49.6%
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e & IFAGAR 1 AEAfaf@d 50 weal (3rutd
9T WE&AT 101 & 150) & AU &7 & FA 33%
(3141 16.5 3(F) WIod F=1 AR

TREde W IuRa Tl & Qv RFeum-fAdern
fArfaf@d o= # 9¢ 3R 93+ IN=BE & 915
3 arel 9T & 3O G| 3oT UAl W 3T I
dael el W IR gl AT

TR=dg-1
Ffas-19 & govar @1 @sft sfegawanstt o o &
Fgler @ Sy yanfad foear &, OEd &) Seg e
IR IS dgee F Al PAEae g g1 oRa o
38 HAYd fAF ek @ gar g w1l e o,
faeqeardt AgEdr 1 A9 F HS F AN HRA
WHR & oHMaR AR GfFg geded @ SR
J¥egaryr # fAay #aer #r derar Fer g1 9RAT
T 1 Fgrel &1 [{EdR Sy § Shar & vediag,
THERMS 3R FRURC §ieg TR JaTE & T o
gdT Il § S ARG 3FIHEEAT A drhd AR
T & st & fearg & g 3R @ifed
T &

101.F=RR@a & ¥ s @ gew afFs 3k

THEINT FIA § S IRIFd aRede @ o

ST FehdT &7

(a) WS gUF H THINE o 7R H gl 3
A gefr @S B

(b) RT & AFE T Fglel sTF ATYH 3MTAF
Thdehl & oTdiordsT l galfdT &1

(c) IiRger  degruit #H  cgme fiiw
gierardr feuia ae g

(d) FHA geftreliel ot Scures 3fqard & SR,
AR Jrefeaaear & el fAaer Agler ¥

102.3WFd aR=dg & e #, Fafef@a & @

FT @M FRT F v e THEwIE AR

A AfRard & aar g7

(a) THANTS, THANTS IR FRURC dies HAhe
& Mg wPfa ¥ oA @ g Refoer SR
Fr FIIIEAT FT deT FAT A A Feg
el

(b) AT & T H A Yaig F dg@T Sof F
fIT Secgdia & AINIMSTATH HASA HT
ALY FAT AR

(c) T faspraellel 3o @9 & o, HRd &
TaeT Afg F s Aifges S w
3 eI ST anfeu|

(d) RT +r 3w e G afa & air
Wt & faT THIS, Tedens iR o
HARC dles TOR TR A higd el
EURY

103.U% H&T H ©F ¥ UM Fham S §; o saeh
A &g o€ 3R de TuE a% g
ST &1 ¥E 39 FEAT & fhde gfaerd & THEeT
g2
(a) 3/100%

(b) 3/5%
(c) 3/50 %
(d) 6%

104.7dT a&q &1 HAET A g 10%, W 20% 3R
3id # 30% T FHaAT H S &1 Tg s TR
&
(a) AT 7 50.4% HT FAT
(b) AT 7 60% Hr Fa T
(c) AT 7 40.5% FHT AT
(d) HHAT 7 49.6% FHT FAT
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105. A machine costs m rupees per day to maintain Passage-3
and n paise for each unit it produces. If the While infrastructure is essential for creating safe
machine produces r units in a week, then which and inclusive places, we cannot underplay the
of the following is the total cost of operating importance of changing mindsets. There is a need
the machine for a week? for the sensitization of students, teachers, and staff
(@ 7m+100nr in all educational institutions, from primary
(b) (700 m + nr) /100 schools to universities, on understanding and
(¢) m+nr accepting queer and transgender folks. India has
(d) 700 mnr taken a step in the right direction by enacting the

Transgender Persons Act, which speaks of a trans-
Passage-2 ) ) ) )
. ) ) inclusive education system wherein transgender
The interdependence between credit expansion and ) )
. ) students learn with other students without fear of
economic growth has been a subject of some o
i ) discrimination, neglect, or harassment.
debate. While some economists contest that the

development of the financial system is a byproduct
) ) 107.With reference to the above passage, the
of economic growth, others assert that credit
) ) . ) ) following assumptions have been made:
expansion is critical for growth itself. India’s
) L ) 1. Presently every stakeholder in educational
impetus on expanding its banking reach and recent
, ) , institutions is not adequately sensitized
changes in the way transactions are being done
about transgender persons.
begs the question whether such changes directly 9 P
_ 2. Before the enactment of the Transgender
affect the growth trajectory.

Persons Act, there was no Act in the

. , country to deal with transgender persons.
106.Which one of the following statements best
o 3. The said Act will empower the
implies the crux of the passage?
i ) transgender persons while removing
(a) India’s NPA problem is a clear
) . ) difficulties they face in every sector.
manifestation of the interdependence
_ ) _ Which of the above assumptions is/are valid?
between credit expansion and economic
(@) 3only

(b) 1 only
(¢) 1and 3 only
(d) 2and 3 only

growth.

(b) India’s financial inclusion programme has
a direct impact on the country's growth
trajectory.

(c) Interdependence of credit expansion and
economic growth is still a matter of
debate.

(dyModern financial systems are not
completely dependent on economic

growth.

JATF CET 2024



I~\TI—

105.t% AT & T@-@E # 9fd fad m ToF 3Rk
384 GdRT 3cUlfed Ucde g & fov n 9
Td g g1 e 7T v @edg & r st @
3G FAN §, a Tk Feag & fou 7l @t
Wﬁ@mﬁmﬁ@aﬁﬂﬁﬁﬁﬁ?
(@ 7 m + 100 nr
(b) (700 m + nr) /100
(c) m+ nr
(d) 700 mnr

TR=dg-2

FoT AR 3R e e & v wewR [eRar
$o g0 & fawy @ g S Fo JE 3w
gd R faag &a § & g gomelr &1 oo
e faehrg &1 3ulcure &, d@ 3T 3H S W
SR & ¥ & e & T %or REaR Jgcaqdt
3elr IfehaT ggT SEe W AR & SR IR AL
& dllh H gl & dceral ¥ Jg dard 3odT g foh
FIT WY dgard WY dR 9 O 9y &1 gernfad
EXG I

106.A==ff@a & & Fa a1 Fu7 R & IR

H FEY ITH NG ST 67

(@) aRT Hr TAdT FAEA FOT [FEaR AR
e g & dg wREaR AeRar & Tose
AP B

(b) #RT & T TAEGYST FFA & T &
faora g7 9x YT gsg g3ar g

(c) ®oT fAFarR 3R e A f wER
foyerar 3reh off sgw @1 v 1

(d) 3myfers fadia gonferal g ke @ 3T
e w e 7 €

TR=dg-3
geifs @iatd 3R FFEd e saw & fav
AT erar JERTH: §, §H Feodl AGTSAT &
HAgcd & HHA FHh gl Ak Thdl grafAe
facaret @ @ favafacareat o @t FarfOw
g # orEl, e AR sFaiRar @ g e
3R grEsist |l F gHS IR TR Fel & AR
# Gaeerlidl oo & ITaRTST &1 9RT & SiHeisT
afFa fafAged same @ Ger 7 &d FeA 3orar
g, Sif Teh cg-gaArael R gomelr fr ard aar g
fSad grasisy orF figHra, 39T a1 3cfisd & N &
5 3 ot & @y @@ §

107.3RFd IR & d@& #, FAmafaf@a aromd

TS IS &

1. A # a0 dEa=t H e RauRs
gy AfFadt & IR A gdtd w9 &
Haeareler 7T &

2. gaoY fdd yRfEIA & el e &
Igel, 4 H g HAfeadr ¥ fAuea &
fow 15 ffaws @ an

3. 3%a yfufaus giaesy afeadr & & &
H 3 dTell HiSATSAT FY ¥ FA §T TARA
FATTaT|

3WFd H ¥ FieT @ YROT AT 8/57?

(a)ms

(b) haer

(c)arck—»ruﬁws
(d) saer 2 3R 3
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108. Which one of the following statements best
reflects the crux of the passage given above?

(a) With better ~ ethos  and

implementation of the Act we can make a

proper

better world for transgender persons, even
with poor infrastructure.

(b) Both infrastructure and compassion are the
keys to the betterment of transgender
persons.

(c) With the help of said Act, transgender
persons can make themselves empowered.

(d) India needs to be better sensitized about

transgender persons.

109. In a class, 40% of the boys is the same as half
of the girls, and there are 20 girls in total. Total
number of students in the class is:

@ 70
(b) 45
(c) 35
(d) 25

110. A shopkeeper labelled the price on his articles
in such a manner so as to earn a profit of 30%
on the cost price. He then sold the articles by
offering a discount of 10% on the labelled
price. What is the actual profit percentage
earned by him?

(a) 18%
(b) 15%
(c) 20%
(d) None of these

111. Manish travels at 60 kmph speed from x to y
and travels back at a speed of 50 kmph. Find
his average speed during the whole journey.

(@) 51 km/hr.

(b) 623/9 km/hr.
(c) 54 km/hr.

(d) 600/11 km/hr.

112.Two numbers are in ratio of 6: 11. If 20 is
added to each number, then new numbers are in
ratio of 2: 3. What will be the ratio of the
numbers if 5 is subtracted from each number?
@ 2:3
(b) 20: 55
(c) 25:55
d) 1:2

Passage- 4
Scholars of education have traditionally made a
distinction between achievement tests and
proficiency tests. The former focuses on what has
been taught according to a prescribed syllabus
while the latter focus on what has actually been
acquired in the domain of knowledge through
classroom interactions. The achievement test
scores normally indicate the extent to which the
learner has mastered the prescribed textbooks.
Even after she has passed the Class XIlI
examination with distinction, a student may not be
equipped to critically examine the claims made by
a scholar, propose alternative hypotheses and

initiate a new line of rational enquiry.
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108.F=faf@a & ¥ «la @1 &9 3w v 7w

IRTE & R H TIH TS g gaATdr g2

(@) FeR R IR fRfFETE & sfa
SAead & WY §A WIS A o &
STaclg ¢ gieeist afaadat & forw ve dgaR
gferdm ST Hehet E

(b) IS @E@r AR FHEOM Qe SISt
ol & Sgalr A ol

(c) 3%a ffamA A A ¥ ok gfad
e T HAFT ol Thl B

(d) RT A TSR AFAAT & TR H R
TaceTelier glel I AT &l

109.T F&T H 40% ofseh, Mt aisfral & R §
IR o AeEx 20 wsfHar g
ezt #r o @ B
(a) 70
(b) 45
(c) 35
(d) 25

FeT H

110.0% gFEACR o G qEG3HT W AT §H YR
Jfha A dIfF aETd FeT R 30% FTomed
HART ST Fh| T 30 3ifhd Hea W 10%
# ge A FEQU S| 3EF garr o
aredfaes wmer gfderd Far g2
(a) 18%

(b) 15%
(c) 20%
(d) 37 & FIg T

111,790y x & y d% 60 ey ufd a¢ & afa &
I T g 3R 50 fRelt ufa g fr afa @
aqd IET AAT Bl QU AET & AR IH
it aifa aa fifaT)
(a) 51 Terefi/eeT]

(b) 623/9 fereti/eeT|

(c) 54 frai/eer|

(d) 600/11 fra/ereT|

112,21 &&a1¢ 6:11 & 3Equrd & §| I g3 deam
# 20 Sier Srar @, o 73 &AW 2:3 & 3feqard
# e 81 g 9ds wewm A @ 5 wer A
ma’rmﬁwwwm?
(a) 2
(b) 20:55
(c)2555
(d) 1

TRede- 4

fRrem & fac@eil F WRET & § 3y q87or
3R cerar qdeTol F @ IR AT &1 ugder s9
Id R A Higd T ¢ & @URa aogwma &
AR AT IGRAT I, G GET FH I W
EATeT shigd AT & [oh HET & ATEIH T AA & &1
H arEdd A F47 gIffe fRar I g 3oy qieTor
PR A d W I qtd § o Ramdt & g
SAYEdR # A ge de HERA g I gl
IREdl el T qlem ORIY IEgar & @ry 3T
A & d1g A, Th oA fRdr fagare ganr feu arw
gar @ TAIOelcHE  ofid &lel,  depfedd
IRFHETATHT & TFAd Hel AR dREId Sra Hr
T 7S faRMM UE A H HeTH g1 8 Fehell &
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113.Which one of the following statements best

reflects the most logical, rational and
practical suggestion implied by the passage
given above?

(a) It is not possible to focus on proficiency
tests because of the subjectivity involved
therein.

(b) Critical thinking and not rational enquiry

makes a student more intelligent.
(c) The
prescribed textbooks is not enough to deal

knowledge  acquired  through
with claims made by scholars.

(d) The criteria for academic outcome must be
knowledge and critical thinking, rather than
good grades.

Passage- 5
Meaningful politics, especially in democracies, is
rooted in local organization, discussion and
negotiation. However, the structure of social media
has facilitated a perception of engagement without
organization, and action without consequence.
This wasn't and isn't inevitable, there are more
thoughtful ways to structure platforms, which
would help connect and root people in their own
communities instead of isolating them locally

while "connecting" them virtually.

114.With reference to the above passage, the
following assumptions have been made:

1. social

politics.

2. Physical organization is the best way for
any meaningful discussion.

Which of the above assumptions is/are valid?

media has disturbed meaningful

(@) 1only

(b) 2 only

(c) Both1land?2
(d) Neither 1 nor 2

115.Based on the passage given above,

Passage- 6

Biotechnology has brought advances in animal
husbandry (ranching, or the raising of domestic
animals). Today's farm animals are larger and
grow faster than their ancestors. Cattle, for
example, are grazing animals. Their digestive
system has evolved to process grasses and other
crops. Corn and other grains cause a cow's
digestive system to become acidic. That makes it
easier for dangerous bacteria (such as E. coli) to
develop. Bacterial infections can be harmful to the
cow and can also infect the milk and meat
consumed by people. Antibiotics are spliced into
the DNA of feed corn to prevent such infection.
Antibiotics have been used since the 1950s to
stimulate cattle growth. Over time, this practice
has led to the development of antibiotic-resistant
bacteria in cattle and people. Many cattle are also
given anabolic steroids, or growth hormones, to
make them get bigger, and faster.

the
following assumptions have been made:

1. Use of antibiotics among cattle should be
reduced for preventing harmful effects on
the population.

Reduced use of antibiotics will lead to a
reduction in milk production.

Select the correct answer using the code given
below.

(@ lonly

(b) 2 only

(c) Both1land?2

(d) Neither 1 nor 2
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113.F=fof@a & ¥ «la a1 &9 3w v v
IR A fARRd wed aifés, adara 3k
STEEIRE Gora 1 Fad e aE F aar g7
(a) 3UH UMAT IFdRSAT & HROT G&IdT

qO&TolT W eATT Higd HET FH A o

(b) THEIT BTG Te1, Tohl HTrdelicHs g
Teh 1T I WS JEfUAH T &

(c) UTRT ureaqeEa® & ARAA ¥ wred AT
facaer garr e a1v gEt & fAdes & fow
qATed gl B

(d) de7fO1R IRUTH FFT ARES S IS F TAT
AT 3R 3TeaATcAS A g aTRu|

TR=de-5

arde T, AV vl &, TARET T,
e 3 ST A @Afga g1 erelifes, dierer Afsar
T A Haed & e Jera@ AR aRomE &
oo wars & aRom w1 glaurses ST g T8
ey gl a1 3 7 § §, colew A f =T F
for 3R 3RF forefa a@ & o oev @@
JEI: "FAGC" P U TALHT TR TR el LereT
T & T 3¢ WIS FHAGRT H S AR S5
oIl H Heg |

114.500%d IR=Be & dei #, fArafaf@a arome
IS TS
1. o A & s Joefa & 3Ed-
e Y feam §.
2. e o @rde war & fov #ifasw e

Y 3T W B
IRIFT & T FieT & gRom AT B2
(a) haer 1
(b) dae 2
(c) 13X 2 g=r
(daar13ikadr2

TR=dg-6

ST WlefehT & gequreleT (Well, I1 B I3 A
qreled-q1oT) & gerfd o & 81 37 & @d & SAeIay
U qEsl 1 Jolell H 93 § AR Ao § e gl
3eeoT & fou, #AAW WA aret FFAAR gl oA
9 a9 9 3R 3T GHdl d GAad & &
foT fasfid g3m &1 A6 IR 37 I TH F
U dF H FFET &l ¢d &l SHA WdlTH
JFORTT (G $. FeN) F1 FHE G @ AT B
ShaTy] HHAT Y F AT gIidsRe g Fehal § 3R
AN ST WU S aTe gy iR A # o HehfAd
I THAT gl 50 dE & THAU H sl & foU
WEItFd HF Bg AFs & ATAT H ST ST B
AT & e & Weaed e & fow 1950 &
gk ¥ UEEIfed a3t &1 39gier fRar Sdr I@r
g §FET & T@Y, 37 AT ¥ AR AR aen A
Cerfeh-FiaRIe SFRIRar 1 fawrE g3 &l F
Mm@t A F371 IR AT FE F v varEifaw
TR a1 WY gl off R I &)

115.3W Gr v aR=de & IR R, Arfaf@a
UROMT 115 1S
1. SAHEIT W glideRe JHTE @ Uk &
for maft & g erifes ganit @
39197 & fohaT SIe arfgul
2. UOeERIee @t & A I d gy
3G # HHT AT
A AT 91T A5 HT IUAT FF TG A A |
(a)arcwm
(b) aer
(c)13ﬁ¢2a’m’r
(dy sTar 1 3R a2
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Which one of the following statements best
implies the suggestion given by the author of
the passage?

(a) To prevent the creation of antibiotic
resistant microorganisms in cattle and
people, there is an urgent need to reduce the
use of antibiotics.

(b) Research should be done to evolve some
alternatives to the harmful use of
antibiotics.

(c) Use of biotechnology has negative side
effects.

(d) Biotechnology can be used to reduce

antibiotic resistance among people.

Lucknow Shatabdi Express has a capacity of
500 seats of which 10% are in the Executive
class and the rest are chair cars. During one
journey, the train was booked to 85% of its
capacity. If the Executive class was booked to
96% of its capacity, then how many chair car
seats were empty during that journey?

(@) 78

(b) 73

(c) 72

(d) 76

If the difference between P and R is r% of R,
and the sum of P and R is 210, then which of
the following statements is always true?

(@) P=110,R=100

(b) P=270,R=180

(c) P=3000, R=3200

(d) All of these

119.If A's salary is 25% higher than B's salary, then

how much per cent is B's salary lower than A's?
(a) 16.33%

(b) 20%

(c) 25%

(d) 33.33%

120. If a% of X is equal to b% of Y, then c% of Y is

what percent of X?
@ c%

(b) (ac/b)%

(c) (bc/a) %

(d) abc %

121. A house costs Rs. C. Later it was sold for a

profit of 25%. What is the capital gains tax if it
is 50% of the profit made?

(@) Rs.C/24

(b) Rs.C/8

(c) Rs.Cl4

(d) Rs.C/2

Passage-7
In sum, the main aim of transport planning is to
make the transport sector more sustainable from a
social and environmental point of view while
simultaneously allowing tourism to grow.
Transport planning and tourism policy have to be
integrated to achieve joint environmental and
social objectives. In this sense, it is important to
create incentives that reduce the need for private
cars and minimize the length of time needed to
access specific locations. This could lead to
substantial welfare gains, in terms of pollution
access for rural

reduction and improved

inhabitants.
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116.fArf@a & & *ia a1 Fua 7T & d@s  119.3G A &7 dad B & ddad § 25% 3ifa« g, ar

ganT U v gerra @ Hafad & § AT 7 B & dae A & fahctall 9iierd a g7
(a) FARAT 3R el F erfes  uforieh (a) 16.33%

gereiat & faAmr @ I & fom, (b) 20%

TEEIee Gar3it & 39INET Bl S Flal T (c) 25%

dchTel 3TaRThT g (d) 33.33%

(b) VerifeH eansit & gifdeRes 3UANT & Fo
faheu fowfid el & v Igaue fhar 120915 X &7 a%, ¥ & b% & KRR &, @ Y &

ST iRyl c% X &1 forderr ufaera g2
(c) Sl wigffr & 3w & AFERCAS (@) c%
AREIEE (b) (ac/b)%
(d) o9 & TEERIeHh JTRIYT H HH I & (c) (bc/a)%
fore Sta ey 1 3T=eT fhar S Heher (d) abc%
gl
121.76 W $r AT & C. o, I # 39 25% &
117. 993 AT THEIH HT &7AdT 500 et #r g, S WX ST feAr arm| gofterd oty Y ar g
et & 10% waelagfed @ o § 3R o Ife Ig JfeTaT oeT &1 50% 72
R PR Y TE AN F 2R, o A (a) &. C/24
&THT &I 85% 3R&TUT Tl Ife THllaygfed E:)) z gi
FTH H 3HHI &THAT HT 96% Toh fohar amm o, ) % C2
ar 38 I & g R FR A R di
grelr Ai? aReda.7
(a) 78 w8Y ¥, uRage Ao F AET Ieaed aRdEd &7
(b) 73 o e e e
2332 ST ¥, A & 9y 9fed @ o g & ¥

HgF qAERoNg AR AESS Segeat #r gred ae

1183 P 3R R & €9 7 3 R 7 1% &, 3R *mmmﬁmmﬁm
P AR R & A 210 & A Prfafam & 700 ool F6 I H QW SICHEA S Heca ol

g o fAsh &RT &1 EeTdhar & FA & 3R
fafrse Furell T Jgo & AU mavIs wHY

HiT TT FAT gAAT T &2

(@) P = 110, R = 100 | ‘ |
(b) P = 270, P = 180 TS F HH B SEY wEUT F @A R amedor
(c) P = 3000, R = 3200 ﬁamﬁﬁvw.qgﬂa?mﬁﬁw‘m
(d) & Fafr FAUTHNT o187 g1 Th &
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122.What is the crucial message conveyed by the

above passage?

(a) Separating the transport and tourism policy
will be detrimental to society and the
environment.

(b) The tourism industry cannot grow without
the growth in the transport sector.

(c) Pollution and economic issues of rural
inhabitants exist because of poor public
transport infrastructure.

(d) Socio-environmental ~ development s
dependent on the synergy between transport

and tourism policies.

Passage-8
Pesticide resistance is increasing and farmers' and
other pest managers' dependencies on chemical
insecticides have led to a high frequency of
insecticide resistance in some crop systems. To
fight pesticide resistance and based on a
knowledge of the genetics of the development of
pesticide resistance, several principles must be
adhered to for delaying the emergence of
resistance or avoiding it entirely. These principles
include pesticide rotation or switching, avoiding
unnecessary pesticide application, using non-
chemical control techniques, and leaving untreated

refuge where susceptible pests can survive.

123.Which one of the following statements best

reflects the central idea of the passage?

(a) Pesticide resistance can be avoided by
following the principles of rotation,
nonchemical control techniques etc.

(b) Increasing pesticide resistance could lead to

food insecurity in the long run.

(c) It is not possible to develop pesticides
without the knowledge of the genetics of
the pests.

(d) Bio-pesticides should be promoted as an
alternative to chemical pesticides to prevent

pesticide resistance.

124.M is 35% of N; L is 25% of N. What percent of

Mis L?

(@) 40.5%

(b) 500/7%

(c) 140%

(d) Data insufficient.

125.If the price of petrol increases by 25% but Raj

intends to spend only an additional 15% on
petrol, by how much percent should he reduce
the quantity of petrol purchased?

(@) 10%

(b) 12%

(c) 8%

(d) 6.67%

126. A shepherd has 1 million sheep at the beginning

of the year 2000. The number of sheep grows
by x% (x > 0) during the year. A famine hits his
village in the next year and many of his sheep
die. The sheep population decreases by y%
during 2001 and at the beginning of 2002 the
shepherd finds that he is left with 1 million
sheep. Which of the following is correct?

(@) x>y

(b) y>x

(€) x=y

(d) Cannot be determined.
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122.31Fq aRese garT fear = #gcaqor wder

F1 g2

(a) IRAeT IR GFead Afd & 39T AT
A AR wAieRor & fav gifaers geml

(b) aREEsT &1 & JEfT & oo wheaT 3g@mT
faenfld =16t & Fehdl|

(c) T AT qRageT AT S & HNOT
gguor AR g et o
FHEAT A §

(d) Irfo-maTaReT faem aRage 3R gdes
Afaat F g aea | @R #)

TRede-8

dreaerh oy 9 T & 3R feamt 3R e
He gt H TS Heard | ARar &
FRUT FS HHA Il H Heanrrd gfoke 6
Igfa 9g oS Bl HeaAd gy ¥ o5 & fav
3R drearers TRy F e i ACERE F A
& MUR W, 9y & 3@ & G T a1 38 ¥
WE ¥ o & fov &% Rguidr & dree fomar
ST Aieul 3 fguial # Hleanere JeAd A
TEafeler, 3eraegs HieaAerh e & qoar, R-
ERfAs AIIUT deellel FT 3T wET 3iR
TR 3T B BISAT, el Jifaudeaiie fie
Sfad ® dha g, AfAa gl

123.Frfaf@d & & ®iT a1 FUT T F FEE
AR # gdfad &7 F gfar &2
(a) Aeee, IRIAIfAS AII0T Teheltant 3T &
fcurdr &1 drelel e e Ik &
4T ST FohelT &l
(b) dieaATed SRy d¢a & o d §AY H TIGH
3TERET & el

(c) et 1 AR F AT & R PrearerHt
1 Iehrd |G 7Er g

(d) Freares gfarer & A & v TaAs
Freare & [ahed & T H Sl HICARIDT
&I derar fgar S =nfgv|

124.M, N &7 35% &; L, N & 25% g1 M & fohcar
gfaerd L 87
(a) 40.5%

(b) 500/7%

(c) 140%

(d) et 3T gl

125.3f¢ 9t i AT 25% ¢ ST & ATl I
gl WX had 15% 3faRed @T axa &7 0er
T@ar g, d 38 Wi A0 9@ dr AR fhde
AT FH FEAT A1RT?

(a) 10%

(b) 12%

(c) 8%

(d) 6.67%

126.99 2000 #T YE3INA H UTH Wag & IE 1
fAfoa a3 9 av & = AT o FET x%
(x > 0) §g ST &1 3PTer a¥ 3Tk INg F 3ehrel
gsar & 3R 3Edhr w5 A4 w Sl €1 2001 &
g S5t i T=aT y% wE g S 3T 2002
YOI A WAl P Il T fb 3Fh I
Afos #15 IO g1 A0 & O T ar T@r g2
(@) X>Y

()Y>X

(c) X

(d)ﬁm‘rﬁ?ra%‘r%marm|
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127.1n an election contested by two parties, Party D
secured 12% of the total votes more than Party
R. If party R got 132,000 votes and there are no
invalid votes, then by how many votes did it
lose the election?

(a) 300,000

(b) 16,800

(c) 36,000

(d) 24,000

128. Two equal sums of money were invested, one
at 4% and the other at 4.5%. At the end of 7
years, the simple interest received from the
latter exceeded that received from the former
by Rs. 31.50. Each sum invested was.

(a) Rs. 1,200

(b) Rs. 600

(c) Rs. 750

(d) Rs. 900

Passage-9
Packaging is enclosing the food material in a
container to ensure the delivery of the product in
the best condition to the consumer for final use.
Therefore, good packaging plays a vital role in
developing the image and brand of the company
product. Intelligent food packaging incorporating
nano sensors can provide information on the state
of the food inside. It is recommended that nano
packaging should be designed in such a way to
release antimicrobials, antioxidants, flavour
enzymes and nutraceuticals to extend the shelf life
of the food products. There is a need to undertake
further toxicological and migration studies to
ensure the safe development of nanotechnologies

in the food packaging industry.

129. Which of the following is/are the most

rational and logical inference/ inferences that

can be made from the passage?

1. Including nano sensors in packaging will
increase the cost of packaging for
companies.

2. There is limited understanding of the use of
nanotechnology in the packaging industry.

Select the correct answer using the code given

below.

(@ 1only

(b) 2 only

(c) Both1land?2

(d) Neither 1 nor 2

Passage-10
Today about 25% of modern pharmacopoeia are
derived from plants. World Health Organization
(WHO) estimated that about 80% of the
developing country's population still relies on
traditional medicines, mostly plant drugs, to help
meet their health care needs. Also, there is an
increase in the demand for plant products in both
developing and developed countries because of
several advantages such as no side effects, non-
toxic, and affordable prices. Plants provide the raw
material for industries producing pharmaceuticals,
cosmetics, perfumes, and fragrance flavours
imparting biochemicals. Therefore, there is an
urgent need for conservation, sustainable
utilization, and management of plant genetic
resources of the region to meet the growing
requirements of food, fodder, fibre, health, water,

and other needs.
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127.2Y wiféat garr &8 aIw gofrg &, 9rét D Hr aréf
R & dofell & & dlel & 12% 3ife dle
At afg ardt R & 132,000 e e 3R A
3ay die gl ¢, a g8 fohaa dledh @ gaa gr
IS?
(a) 300,000
(b) 16,800
(c) 36,000
(d) 24,000

128.3) &R =AUy fAdewr $r 71, tF 4% W IR
gEl 45% W 7 a§t & 3{d #H, 9¢ a4
YIS WTUROT SISl Ygel dlel & Wit HIEROT
saTsT ¥ 31.50. %, 31fAF g I gde AT
iRy -

(a) & 1,200
(b) . 600
(c) . 750
(d) . 900

TRT3g-9
ifaw 3oanr & fou 3usiear o @afkda Rufa #
3cure @ Beladl glafRad s & fow @y amweh
H Th Seel H d¢ Pl Johfordl gl AT, IO
ST &Il & 3carg A Bid IR Fiz fawtaa
F # Agcaor afAE femch g1 Aer SRt arelr
EOA Wied Yhioldl 3HeX #Hio B Bufd & R
F THE TG F TR §| AT AW HY A F
& Aot YRfSer @ 30 Re d B far a@r
aIfgw fF WeT 3cael & Aew Sided HI deld &
gergfewed S R S wdl wieg  Yeforer
3 A SRS & FEd fww @t
gARed #e & v 3mEr favfase 3R vams
ETTA IR FT IR g

129.fF=fof@a & & Hia a/a Fad ahaIad 3R
afes fsey g8 ot dRede @ @erem S
HhdT 87
1. SRS & A TR AT H T HIfAT
& ToT Yhfoier &r T s STwet|
2. UFFS 3eT FH AARFAST & IgAT FHr
gHgr @fAd &
A AT 91T AT HT IUAT FF TG I A |
(a)amm
(b) aer
(c)13ﬂ¢2a’m’r
(daart1ikagr2

TR=3g-10
3T SET$ET 25% 3MYfeieh BrATRIOAT it & gred
gIcT &1 TaRd Taeey @Iree (Ssequdsil) T 3iegArT
g fr emmdea o $r e 80% METEr el
TAELY  JERISABT A Q@ & H FHeg & v
3l off aRuRe garsfl, Saerar dief & gansit )
A8 1 3@ 3remar, H$ @8z shee Q1 IR fadar
IR aEdr FAd S FE GRS F HROT AR
IR Fwfaa =t et & urey Icurer v &@Er A
T g5 &l N wEegfeded, dicd wwwe, 7
3R Gory @G Ve He dle Sd TR el drel
3R & foT FTar A Y A &1 sdfav,
HIST, IRI, BISR, TR, Ul AR 3T ST&ar
I Fecdl MAIFATIAT H T A & fav &7 &
Uy RIS HHUAT & TET0T, fehrs 3uer 3R
U I dIchlel JTaRTSAT &l
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According to the passage above, what are the
different uses of plants?

1. Preparation of medicines

2. Consumption of food

3. Prevention of soil erosion

4. Making perfumes

5. Controlling air pollution

Select the correct answer from code below:
(@) 1,2and 4 only

(b) 1,2, 3and 4 only

(c) 1,2,3,4and 5

(d) 2,3,4and 5 only

Based on the above passage, the following

assumptions have been made:

1. Developed nations are mainly dependent on
chemical-based medicines.

2. Many plants’ genetic resources are getting
extinct because of the increasing loss of
biodiversity.

Which of the above assumptions is/are valid?

(@) Lonly

(b) 2 only

(c) Both1land?2

(d) Neither 1 nor 2

Renu eats 6 chocolates and 14 ice-creams every

month which costs her Rs. 1800. If the price of

a chocolate is Rs. 120, then which of the

following cannot be concluded?

(a) Renu eats chocolates of Rs. 8640 in a year.

(b) The total cost of 14 ice creams is more than
Rs. 900.

(c) The cost of an ice cream is more than Rs.
70.

(d) All (a), (b) and (c) are correct.

133.1In a hall, the ratio of the number of men and

women is 13:8. If 50 men go out of the hall and
50 women enter the hall, then their ratio
becomes 4:3. The final number of women in the
hall is:

(a) 400

(b) 450

(c) 350

(d) 500

134. The average of 15 consecutive numbers is 26.

The difference between third highest and fifth
lowest number is:

@ 3

(b) 8

(€) 5

(d) 4

135.N and P are two positive real numbers. If N is

20% of P, then what must be the value of P in
terms of N?

(@ 5N

(b) N/2

(c) 2N

(d) N/5

136. If 10% of x is 25% of the half of y, then what

must be the value of y/x?
(a) 3/4
(b) 8/3
(c) 4/5
(d) 5/4
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130.3WFd gR=de & AR, dul & A 133.u% gl A s IR ARt HodEdr @

39T FAT §? 3eATT 13:8 ¥1 Ffe 50 9§ glel & S1EY Sfd §
1. 3iwfetr fr IRy 3R 50 ARRET gfar & waer I &, ar 3dar
2. SIS #T Qg 3fqaTeT 4:3 g S &1 gl & Afgensit & sifas
4. 3T FAAT
. (a) 400

5. a1 YeyoT WX foAaor

2 (b) 450
(@) saer 1, 2 3R 4 () 500

(b) &aer 1, 2, 3 3R 4
() 1,2, 3 43R5

(d) ¥aer 2, 3, 4 3R 5 134. @ MaR 15 F&AT3HT &1 3aa 26 g1 ad Fed
31 3R grgdi @99 B FEAT F dF FH AR
131.3Wad IR=dE F IR W, RAeAfaf@d arRomd &
IS TS B (a) 3
1. efda <o A=T U @ WEA IraRd (b) 8
ganit AR & (c) 5
2. Sfa Rfeydr & sed FhAE & FROT &3 (d) 4

diel & 3melafe FaTee faded 8 % &
Fa T - ¥
IRIFT & ¥ q@ aRoT AT /82 135.N 31X P @ gercHes aredfas geard &1 afg N,

(a) Fael 1
(b) e 2 P& 20% & o N & @G & P & A &7
(©) 1 3R 2 & @F'TE'T%‘T?
(daar13ikad2 (@) 5
(b) N/2
132.3 & A= 6 dlsholc 3R 14 3rzHHA @il g, (c) 2
Sadhr HAT 38 T 1800. IE TH dAldelc &I (d) N/5
FAd T 120, ar =faf@a & @ Ha ar
SRy gt Rhrem ST Thar &2 136.37% x & 10%, y & 378 &1 25% &, ar y/x &1
(a) ¥ T AT A 8640 FI9X T dichelc @i A &7 g AR
gl (a) 3/4
(b) 14 3MSEHHA HI FoT oETd 900 T A (b) 8/3
H&® g (c) 4/5
(C) U 3IMSHHIA Fr FIAT 70 39¥ ¥ 310+ g (d) 5/4

(d) |3 (a), (b) IR (c) FET ¢
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Passage-11
Traditionally, farmers have used a variety of
methods to protect their crops from pests and
diseases. They have put herb-based poisons on
crops, handpicked insects off plants, bred strong
varieties of crops, and rotated crops to control
insects. Now, almost all farmers, especially in
developed countries, rely on chemicals to control
pests. The definition of "pest" ranges from insects
to animals such as rabbits and mice, as well as
weeds and disease-causing organisms-bacteria,
viruses, and fungi. With the use of chemicals, crop

losses and prices have declined dramatically.

137.Based on the passage given above, the
following assumptions have been made:

1. Chemical pest control methods work better
than traditional methods.

2. Like developed countries, developing
countries too should adopt chemical
methods to control pests.

Which of the following assumptions is/are

valid?

(@) Lonly

(b) 2 only

(c) Bothland?2

(d) Neither 1 nor 2

Passage-12
Any suicide is a tragedy of insurmountable
proportion for the family. It has multiple
ramifications for those left behind. Truly, it is the
end point of the collective failure of society.
Hence, its prevention begins within the society.
Suicides which happen due to coercion and threat
of violence are not truly suicides, they are murders

committed by all of us. In India, we harbour

suicides in our shanties, colonies, homes, colleges,
schools and professional institutions. We love the
talk of death as a means of retribution. If we do not
want that to happen, then we must raise our voices
at every act of injustice, abuse, prejudice, threat

and violence aimed at the ordinary Indian.

138.Which one of the following is the most

rational inference(s) one can draw from the

passage?

(a) Society, in many cases, provokes one to
commit suicide.

(b) Society is solely responsible for suicide.

(c) Society promotes suicide in order to
maintain its supremacy over individuals.

(d) All of the above

139. Which one of the following acts represents us
as insensitive human beings according to the
passage?

1. Raising voice at every act of injustice.
2. Loving the talk of death.

Please choose correct option:

(@ lonly

(b) 2 only

(c) Both1land?2

(d) Neither 1 nor 2

140. The average of 100 numbers is zero. Which of
the following can be concluded about the
numbers?

(a) At most, 90 numbers are positive.
(b) At most 95 numbers are positive.
(c) At most 99 numbers are positive.

(d) At most 1 number is positive.
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TRede-11 STeReEd R ffar @ uwdr & FROT g arel
WO &7 §, A 39 wEet & drer sk ACHEAt add # eHgeaT dd §, 9 & @l
dohal & aT & WU W aw & atet g GO0 W TG AT E) ARG A, @ qwd g
SEAATT A &1 3ol Badl W FAN-TE-3meaia ,V ’Fm.’ mwﬁc e
‘ o H ATcAGCATT FF 8T Sd §l §H Ty & AT
STEY S &, il § EI A Il g HIST FI fAwren ¥ & & Hog 1 919 W ¥ IR EH A GEd
o, HECl 6T Ao fReAt w1 T BT MR AT oo @ @ gt 3w andw ¥ Rew @ o
1 BT wE F AU wEel #OGART §l 39, 30, geddeR, [EE, gRE 3R A & & ped
ST |l FhareT, fadwe i@ et &, et s W 39l Jmare 3o aifev
g = & T @A W AR &1 Pt i
IR # I3 F AR TN AR G S AR, 138 Frataiad F F Pl @ ga@ g e §

T WOdaR IR [T Y7 F gl Sa- o 15 30 RS & Fera d&dr g7
YFaREr, arrE 3R waw afAe & wWEEt & (a) FE A H TATS HEY I AMcHGeAT Hle
3URT & GEA F qAHA AN HAdr 7 AehHT Fq & foT sard ¢l

¥ fORmEge 1S & (b) 3TcHET *ﬁ'ﬁfﬂﬂlaqﬁmmﬁ

(c) TATS FfFaAl W 39T g §AI0 @A &
fIIT 3TcAgcAT F Forar ST gl

137.3R fer aiv o= & 3R W, Feafaf@a (d) FRET T
YROMT §=175 5 ¢
1. TERfE #e BREe RRERE ORORE 139, 3T0C F IER PR # @ @ ar &
fafert r goretr 7 dgaX FH A FH JEdCTNS AT F T H ST §7?
2. afda e & ovE R e @ s 1. 3@ & & FoI T IS 7T

2. #Aig & 99 ¥ ¥R FET

Fret IGREECY Taafas
w e i FUIT TEI fAehed o
AT A1fRT| (a)%FH
efaf@ad & @ sl @ 4rRom AT 8872 (b) Faa
(a) shael 1 (c)13ﬁ¢2a’m’r
(b) shaer 2 (dTar1ikad2
(c) 1 3Rk 2 gt
FEIBN & R & F7 ey Ao S ghar
&2
TR=de-12 (a) IAFIA 90 TFEIAW TFRIHS &l
S 3 3cHEAT IRAR & AT 3T THET BT (b) 31fda 95 TAEAW THRICAS gl
gl 9 ge T @Rl W gEG HS gAE g T, (c) 3THAH 99 TEIT TFRICHS gl
g HATST &I AHfeh fAherdr 1 3ifae foig &1 e (d) RTH 1 HEIT HHRIcHS g

SEh! URATH FANT & MR & & Y& gl gl
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141.Simran and Diya have to travel from Delhi to
Chandigarh in their respective cars. Simran
drives at 30 km/h while Diya drives at 45 km/h.
Find the time taken by Diya to reach
Chandigarh if Simran takes 6 hrs.
(a) 3 hrs.
(b) 6 hrs
(c) 4 hrs.
(d) 5 hrs.

142. The distance between Indore and Delhi is 864
km. A train starts from Delhi with a speed of 80
km/h and another train starts from Indore at the
same time with a speed of 40 km/h. Both trains
maintain their initial speeds till they complete
their journeys. After how much time will both
trains meet?

(a) 9 hours
(b) 8 hours
(c) 7.2 hours
(d) 8.3 hours

Directions for the following three items: The
following line graph represents the uniform speed
of trains (A, B, C, D and E) on two different days
(in m/s), and the bar graph represents the length of

each train in meters.

Length of the train [ Length of the train

300
250

200

150
100
50
0

TrainA TrainB TrainC TrainD TrainkE

Speed of the trains (in m/s)

—@— DAY_1 --e---DAY_2

Train A Train B Train C Train D Train E

143. What is the approximate average speed of all

the trains on Day 1 in km/hrs?
(a) 429 kmph

(b) 439 kmph

(c) 420 kmph

(d) 418.5 kmph

144. What would have been the approximate average

time taken by train B on day 1 and day 2 to
cross a pole?

(a) 0.9 seconds

(b) 2.9 seconds

(c) 4 seconds

(d) 1.8 seconds

145. At what speed must train E travel on Day 3

such that it crosses the platform of 750 m in
half of the time it took on Day 2?

(a) 600 m/sec

(b) 150 m/sec

(c) 340 m/sec

(d) 1200 m/sec
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141.75a 3R & &7 39d-39a FRi & ool &
T2 d AT e g1 R 30 fRHvEer
Ifd & IS AT § A9tk ST 45 fRaEer $r
afd @ s gard g1 I e @ d9dere
T A 6 6 W § A A A v ageR
A fhrder AT F@em?
(a) 3 ©E
(b) 6 &
(c) 4 &
(d) 5 &

Length of the train [ Length of the train
150

100 t B
50 -
0

Train A TrainB TrainC TrainD TrainE

Speed of the trains (in m/s)

—@— DAY_1 --4---DAY_2

142.52R 3R Reah & @0 1 g 864 R ¥) v 143960 oA W oAl H spEaa e aTid

&1 feeelr & 80 forafi/eier & aifd & & gl &
AR qEll ¢o7 38 §HY SaN @ 40 fepi/eer &r
afd & YE BT B1 clat oA ITel Irm g gl
d® 30T URfAE fd ST @dr §1 e S
fohca @ e fAelan?

fepefi/erer & @Far &2

(a) 429 frelr ufa wer
(b) 439 et wfa et
(c) 420 et wfa et
(d) 418.5 fret gfar ger

(a) 9 ©E
(b) 8 TE 144.357 B g@RT g foeT 3R g e v @am ur
(c) 7.2 G w A foar AT saa @ g F=ar @
(d) 8.3 €& gram?
(a) 0.9 AFs
M fier gt & v @& e srerer-3reer et & oo (b) 2.9 T3
(AB,C,D 3R E) & v us q&E e (H/A) & (c) 4 @3
AT YT e & ST SEqE R AR ¥, 3R e (d) 1.8 s
HG A ol & Falg H Hel H TEId Har
2l 145.37 § 3 ey R Brw 1y @ amr w6t @Rk

arfes @8 750 HieT & Tolew & gl o &
AT & 3T AT H IR R Th?

(a) 600 Hrex/THs

(b) 150 Hrex/dhs

(c) 340 #Hrex/THs

(d) 1200 #Hre/qHs
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Passage-13

Social media has become integral to our daily
routines. We interact with family members and
friends, join public events and online communities
to meet people who share similar preferences
using these platforms. Social media has opened a
new avenue for social experiences since the early
2000s, extending the  possibilities  for
communication. According to recent research,
people spend 2.3 hours daily on social media.
YouTube, TikTok, Instagram, and Snapchat have
become increasingly popular among youth in
2022. The considerable time people spend on
social media worldwide has directed researchers’
attention toward the potential benefits and risks.
Research shows excessive use is mainly associated
with lower psychological well-being. However,
findings also suggest that the quality rather than
the quantity of social media use can determine

whether the experience will enhance or deteriorate

the user’s mental health.

146. Which of the following is the most rational
inference one can draw from the above
passage?

(a) Social media has deteriorated the quality of
life of individuals.

(b) Mental health has an important correlation
to the quality of content and time spent on
social media.

(c) The use of social media has a significant
impact on the body image and self-esteem
of youth alone.

(d) Social media has transformed the means of
interaction between individuals and must be
banned to curb the harmful effects on

psychological well-being.

147. As seen above, what is/are the harmful effects
that can be attributed to excessive exposure to
social media?

(a) Joining online events
(b) Feeling of disconnect and loneliness
(c) Cognitive impetus

(d) Rush of neurochemicals in the brain

148. Mekhla is twelve years old. For three years,
she has been asking her parents for a dog. Her
parents have told her that they believe a dog
would not be happy in an apartment, but they
have given her permission to have a bird.
Mekhla has not yet decided what kind of bird
she would like to have. Choose the most
appropriate answer from the following:

(a) Mekhla’s parents like birds better than they
like dogs.

(b) Mekhla does not like birds.

(c) Mekhla and her parents live in an
apartment.

(d) Mekhla and her parents would like to

move.

149. If A is the brother of B; B is the sister of C;
and C is the father of D, how D is related to A?
(a) Brother
(b) Sister
(c) Nephew
(d) Cannot be determined
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TR=dE-13

werer A g e Reterell 1 e 37T o
A Bl gH IRAR & FeEd AR edt & @y
FHCE A A gt 3o o & e § S g
CeHAET HT 3UAT Fh TAT ARSI FTST
& 81 2000 & TS HT YEINA T AT AfSAr
AR T HAGAST T FGId §T AANSTD Ioerl &
for ueh a1 T @ fear gl oerfer vy &
AT, @er |ierer ;AT @ AT 2.3 g faard
g1 gege, fowel®, ream IR wode 2022 &
gansit & & dst @ AT g v §| gl oA
ST Frerel ;AT WS w qAT AT g 36
MEURATHT & e Fofad arsi 3R ST A
IR AT har §1 3egEU= & 91 o § &
yaf®s 3UAET qed w0 @ Fra Addeiae
HAOT { 3T g1 Erellich, sy Jg off ocid & &
qrerel HSAT & 3UAT T AT & T I[UTaT Tg
fAeiRa & dwdl & 6 3ega 3uderhdt &
AAS TARLT Y TG0 IT TS HIAT|

146.3RFd IRz @ A=aff@a & I wed
THEIT AsFY FT @r AP ST Fohar §?

(a) |rerer AfSAr o cafFdat & Shae $r aqoraar
A WE X AT &l

(b) AAHS TEOELT HT FHM BT AoTEr AR
el Afsar X f9dw T gAY § TH
Hgcaqul GeY g

(c) @ierer #AfSAT & 3UAT F 3hel garai &
AINF B M cA-TFAT W Ageayol
EEICACER

(d) Grerer AfSAr o aFaar & 9 arada &
YAl B g fear § 3R Aedeiae
FHAU] W gliichReh THTGT &l Udhed o foIT
39 IR gfa«e ST AT arfev|

14731 & IR @ T g, ARe A &
IcAF TUS & FRUT Hid F gilaAdRe gaa
g |hd §7?
(a) 3iTAcTSsT FIAHAT H ATFHT ger
(b) 37eRETa 3R 3fheldsT Hr HIGAT
(c) HATATcHS Yo
(d) ATETSh A FgUhiAwed 6 s

148.7@cl SRE AT T g§. dg ol aATel & 3Tad

AT & TR FelT AT G §| 3HB AT

A 3HY FET & T 3w AN § R US F

T AT A G A I, Afhel 3eglel 39

T geflt gres AT IAfT & & 81 Awen o 3

de ¥g g =g fhar § 7 39 e o #r walr

TifRe. fFrafaf@d & & qe@ 39gFa 3R Lo

(a) A & ATC-TAAT & Feil BT Jofol A galr
A THg gl

(b) A@aT & gely ude gt T

(c) F®@eT 3R 3AF AC-TUAT TH 3IOCHC H
w®d Bl

(d) F@en 3R 3 ATA-RAr 3T FeaAT AR |

1499 A, B oS & B, C A sgT &; 3R C, D
&1 far &, D, A @ Fg wR &fa &2
(a) oM
(b) ST
(c) s
(d) et =1&r fohar ST dhar
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150. A, B, C, D and E play a game of cards. A says
to B, "If you give me three cards, you will have
as many as E has and if | give you three cards,
you will have as many as D has." A and B
together have 10 cards more than what D and E
together have. If B has two cards more than
what C has and the total number of cards be
133, how many cards does B have ?

(a) 22
(b) 23
(c) 25
(d) 35
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150.A, B, C, D 3R E rer & @ Weld &1 A, B &
FEdl ¢, "I 39 7 AT S A g, A 3a*
9 3d g g Sae E ¥ uw § 3R afy A
IR AT FE AT § o Uk U 3o @
gl S D & 9 1" A 3R B & uH FA
fAeme D IR E & 10 &% 3= & I B &
aE C @ ar & HfRw § ok wEt A og
FEar 133 §, df B & 99 fohdel &8 87
(a) 22
(b) 23
(c) 25
(d) 35
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Sheets for rough work
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INSTRUCTIONS FOR PAPER-II
(5 Subjective Questions; 50 marks; 30 minutes)

. This paper contains 5 subjective questions, all of which are mandatory
and carry equal marks (10 marks each). There is no negative marking
in these questions.

. Each question must be answered in not more than 100 words each.
Content of the answers is more important that their length.

. The answers must be written only on the sheets following each
question. These sheets must not be detached from this booklet.

QqT-11 & fow fader
(5 SATFIRSE T2T; 50 3Hah; 30 [FAsIe)

. 30 YR H 5 IFdRE 92 &, S g3l 3 § 3R g\ 3 (vAF 10 3F) &1 5
Ul H PIS APRIcHS 3ichel oTal g

. UAF YT HT 30T 100 Teat F 310 8T g1 a1fgu| 3oRT Fr el 30 ders O 3w
HecdqUl Bl

. 3 FHad FAdh YR F I dlell fMe W & ford St anfgwl o1 oMet 1 sq@ giedsr &
379 gt fohdT ST anfeu|

. 180 fAeTe Y FAICT W g giedar ot Aders &1 dia &= g
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1. Evaluate India's foreign policy towards its neighboring countries.

1. 3799 USIEY ST & 9id TR i fager siifc &l #Hedihel |
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2. Discuss the role of technology in transforming small scale industries and fostering inclusive

growth in India.

2. HRA # Y 3TN HT deolel 3N FATGRM Tahrd @l Jorar &1 & i@k &1 giffer w o= H|
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Critically examine the role of social media in influencing public opinion and political discourse

in contemporary society.

FHASCN FAT # SoAd AR Toeiifas gaod @ genfad &t & dre Afsar & qff e @

JTATATCHS GL8ToT FHY |
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4. Discuss the impact of climate change on agriculture and food security in developing countries.

4. Taraeher St # $¥ 3R @eg FI&TT W Sielary qRacdel & Jefd 9T == Al
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5. Discuss the ethical principles that should guide a civil servant when faced with a conflict

between personal interests and public duty.

5. 34 oAfas Reuidl W o=t & S AiFderd Ral 3R wrdafaes #ded & T cHig H HHAT HaA
W UF AT Y9 &1 ARTEST Fer aifgu]
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J 180

Eal o

7 JA'I?F ]
W.$.81.-2024 weaT gRETHT
AT 180 fAwe (3 @R) quite: 200
39 WeT qRAST F a9 aF o Tol I9 aF AR QW T F AT T Far e
" fordar

qUET YE B F I TG ATIHT ST R AR o et gt & P ol 3EAfad A1 er g3 AT IAST I8 A
g1 I &, ar 38 ot e gieae & Jea o
FUAT LA & o Fg 3FAGAR AT Ay & 6 95 3 gieae & |1y 3R foawe & faw gare & 8 OMR e
# 39 e W A dR AR 3w Aol @ waueiydes 3R feer R g ar fwefa & el sw qReasr &
#1 o g 7 fawafa 3o giderr a1 OMR &1 HEAHR T el
38 TR qRec A 2 90 g1 YR H 150 EGfAss 9% ¢, 3R QRN 5 AiFdueh 99 g
2l 9T HT gT FA & AT FoT 180 Peie FT FHY 71 IR | FTellieh, gl 150 AeAe & 3 &, qR-1 i fow
OMR ¢fic Tddete # dive gl afaT, 3FiicaR A Todl & Fa® & il & F 9R-11 (5 ATFARF Tee) W
TR F TEA Y1 (150 IFGASS W) FT TAH F
gl g fger 3R e al F e g1 fRdr g @ BEr 3R 3 # carear & AR gl W3S dERior
FI ATAH AT STUI|
qia gfer 7 Fogocy, ST Wi A 3 Foagi g dore B AR 76 T
TQell FATCT gl & Yge gddeth 1 gAfd & e oder gl 7 sis|
forel off gopR i eNETUSr F 3HMdeed A el & T 1T AT ] fG27r smeam|

9T & fow fader

(150 FEGASS TeT; 150 3iah, 150 d7e1e )

g 9 & ToIT 5@ qliET & ggor 150 fAee & @Ay @uiRa & o s 3id & OMR 2fic widete &1 e gl
g% 9 H IR fGded g1 30 GeeT &1 99« & 8 3T OMR ofic R 3ifohd e argd &1 I 39ehr oferar
¢ fF e § aftw T Reea 8, 39 Rees o RTaT 1 8 310 @@ o1 A-a 81 B o fufa &,
g% U F v Fad th 3w RAfdAT &3
I 3A OMR 2fie 7 3ifFd F OMR efie 7 Fafd alter & @t afel UF & [
T URaAT & 3P TA & (IcAd U 1 37 T §)| Uedsh 9T ok v 37Algar eanr rad 3R fgar am=m 8,39
T & for FUiRT 379 & @ v [REs 31 &3 F & & we AT S|
Ffg A 337 OMR e & vF T 3 3R 3ifhd AT §, A 3 I 3O AT ST, Hel & 3ifhd 3R & &
T HEY ST Y| 39 9 & AU IWad & AT & FHAT AT S|
afg FIS vl @relr oI 5T S1ar §, 3rdia 319t garRr OMR e 7 F1$ I 3ifohd g R ST &, dF 39 weeA
& fau =S ¢35 g f&ar smwem|
FT 150 weall & AT 3fiqar @ wIed Fo 3F 9T A 3qF WA FHR A A3 SACHA| grelitn, 3FAGER FoIde
wdieT qRaFT F I F FeAwa & AT WA Wod A F AT $W IR F AT 1 (TN TeT AT 101 F 150) FH
50 weaAl & FFAA FA F FA 33% (AN 16.5 3F) WIed FA giat |
W FE & AT e qu-1& 3d # qleT giedesr & oo & g

Q-1 & fow foder

(5 ATFARSE IeT; 50 37eR; 30 [AeTT)

50 IR A 5 gfFdue g §, Tl 3fAar § 3R 93F 10 3% €1 57 UeAl H S ARRICHS 3ihel @l 8l
T 9T H 3 100 el ¥ HF G glelr ART| I hT WHA 3o wiars ¥ 3HfE Ageaqor gl
3R Shdel Tcdsh T & ale arell e W & fod Sirer =nfgw| gor efiet & qieae & 3refer #gl foham S =nfgul
180 fA=Te &1 @At WX Ig qieder off =Alers 1 |9 &air gram|

Note: English version of the instructions are on the cover page of this booklet.
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